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Question Number : 1 Question Id : 190889592 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At a place on earth a vector A points vertically upward B points towards north . The vector
product A x B is,

along west

along east

Zero

vertically downward

P Lad bl

Options :

1908892301. 1
1908892302. 2
1908892303. 3

1908892304. 4

Question Number : 1 Question Id : 190889592 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892301. 1
1908892302. 2
1908892303. 3

1908892304. 4

Question Number : 2 Question Id : 190889593 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The length and width of a rectangular plate
are (16 .30 £ 0.05 ) em and (13 .80 £ 0.05) en respectively. Area of the plate and uncertamty in
the area will be :

1. (224 9+15.05)em’

k-

(224 6+150)em”

3. (224 920.15)em’
4. (224 0+067)em”
Options :

1908892305. 1
1908892306. 2
1908892307. 3

1908892308. 4

Question Number : 2 Question Id : 190889593 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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1, (224 9+15.05)em’

[ ]

(224 9+1.50 )em ~
. (224 9+0.15)om °

3

4. (224 94067 )cm”
Options :
1908892305. 1
1908892306. 2
1908892307. 3

1908892308. 4

Question Number : 3 Question Id : 190889594 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dimentional formula for the coefficient of viscosity 1s :

1 ML T

2. LT

5 [M 10 Ti]

1. IN L T
Options :

1908892309. 1
1908892310. 2
1908892311. 3

1908892312. 4

Question Number : 3 Question Id : 190889594 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892309. 1
1908892310. 2
1908892311. 3

1908892312. 4

Question Number : 4 Question Id : 190889595 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A person travelling on a straight road moves with umiform velocity », for some time and with
uniform velocity v, for next equal time. His average velocity v will be -

B
y 2 Ba R
v on v
2. v=n+ v,
T.'l+l":

3. v=——
1 i 1
4 =
vV ¥ 1

Options :

1908892313. 1
1908892314. 2
1908892315. 3

1908892316. 4

Question Number : 4 Question Id : 190889595 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892313. 1
1908892314. 2
1908892315. 3

1908892316. 4

Question Number : 5 Question Id : 190889596 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two bullets are fired simultancously. horizontally with different speeds and using two different
guns from the same place. Which bullet will hit the ground first?

The faster one

The slower one

Both will reach simultaneously
Depends on the mass of bullets

|

[ = ]

Options :

1908892317. 1
1908892318. 2
1908892319. 3

1908892320. 4

Question Number : 5 Question Id : 190889596 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options:

1908892317. 1
1908892318. 2
1908892319. 3
1908892320. 4

Question Number : 6 Question Id : 190889597 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



From the velocity - time plot shown in the figure, find the distance travelled by the particle
during the first 40 s.

-Sm/s

Zero

100m
150m
200m

b et

g Bk

Options :

1908892321. 1
1908892322. 2
1908892323. 3

1908892324. 4

Question Number : 6 Question Id : 190889597 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892321. 1
1908892322. 2
1908892323. 3

1908892324. 4

Question Number : 7 Question Id : 190889598 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



While walking on 1ce, one should take smaller steps to avoid slhipping. This 15 because,

friction 1s large
friction 1s small
normal force 1s large

|

bt

normal force 15 small

Options :

1908892325. 1
1908892326. 2
1908892327. 3

1908892328. 4

Question Number : 7 Question Id : 190889598 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892325. 1
1908892326. 2
1908892327.3

1908892328. 4

Question Number : 8 Question Id : 190889599 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If the carth stops rotating. the apperant value of accelaration due to gravity ‘g’ on 1t surface will

Increase everywhere

Decrease everywhere

Remain same everywhere

Increase at some places and remain the same at other places

A o

Options :

1908892329. 1
1908892330. 2
1908892331. 3

1908892332. 4

Question Number : 8 Question Id : 190889599 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088923209. 1
1908892330. 2
1908892331.3

1908892332. 4

Question Number : 9 Question Id : 190889600 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two cars having masses mj and my move in circles of radii ry and ry respectively. If they
complete the circles in equal time. the ratio of their angular speeds @1/, will be.

my/ mp
r n
miry/ mary

1

B

Options :

1908892333. 1
1908892334. 2
1908892335. 3

1908892336. 4

Question Number : 9 Question Id : 190889600 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908892333. 1
1908892334. 2
1908892335. 3
1908892336. 4

Question Number : 10 Question Id : 190889601 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The radius of curvature of a plano convex lens can be measured by a -

1. Vernier Calliper
2. Spherometer
3. Screw guage
4. Pyrometer

Options :

1908892337. 1
1908892338. 2
1908892339. 3

1908892340. 4

Question Number : 10 Question Id : 190889601 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892337. 1
1908892338. 2
1908892339. 3

1908892340. 4

Question Number : 11 Question Id : 190889602 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A mass m 1s rotated in a verticle circle by connecting it to a light string of length [ and keeping
the other end of the string fixed. The minimum speed of the particle when the string is horizontal
for which the mass will complete the circle is -

Jal
YT
N
[l

Options :

I L] [ —

1908892341. 1
1908892342. 2
1908892343. 3

1908892344. 4

Question Number : 11 Question Id : 190889602 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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1908892341. 1
1908892342. 2
1908892343. 3

1908892344. 4

Question Number : 12 Question Id : 190889603 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A body falling vertically downwards due to gravity, breaks into two parts of unequal masses.
The centre of mass of the two masses taken together will -

1. shifts towards heavier mass

2. shifts towards lighter mass

3. does not shift horizontally

4. depends on verticle velocity at the time of breaking

Options :

1908892345, 1
1908892346. 2
1908892347.3

1908892348. 4

Question Number : 12 Question Id : 190889603 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892345. 1
1908892346. 2
1908892347. 3

1908892348. 4

Question Number : 13 Question Id : 190889604 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The moment of mertia of a thin spherical shell of mass M and radius R about the diameter 1s -

1. =MR®

=gl

[
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Lad
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Options:
1908892349. 1
1908892350.

1908892351.

A W N

1908892352.

Question Number : 13 Question Id : 190889604 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908892349. 1
1908892350. 2
1908892351. 3

1908892352. 4



Question Number : 14 Question Id : 190889605 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following shows graphically correct variation of gravitational potential with
distance r from the centre of the uniform thin spherical shell ? (R = radius of shell)

> I

(a)

(c)
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Options :

1908892353. 1
1908892354. 2
1908892355. 3

1908892356. 4
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Question Number : 14 Question Id : 190889605 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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1. (a)
2. (b)
3. (c)
4. (d)
Options:

1908892353. 1
1908892354. 2
1908892355. 3
1908892356. 4

Question Number : 15 Question Id : 190889606 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following quantities remains constant in a planetary motion as seen from the sun?
(Consider elliptical orbit)

Speed

Angular speed
Kinetic energy
Angular momentum

e e B2

Options :

1908892357. 1
1908892358. 2
1908892359. 3
1908892360. 4

Question Number : 15 Question Id : 190889606 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892357. 1
1908892358. 2
1908892359. 3

1908892360. 4

Question Number : 16 Question Id : 190889607 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A pendulum clock keeping correct time in the surface of earth is taken to high altitude. Then -

1. It will keep correct time

2. Its length should be increased to keep correct time

3. Its length should be decreased to keep correct time
4. Tt can not keep correct time even if length is changed

Options :

1908892361. 1
1908892362. 2
1908892363. 3

1908892364. 4

Question Number : 16 Question Id : 190889607 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892361. 1
1908892362. 2
1908892363. 3
1908892364. 4

Question Number : 17 Question Id : 190889608 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The three vessels shown in the figure have same base area. Equal volumes of water are poured
the vessels. The force on the base will be -

Maximum m A
Maximum m B
Maximum mn C
Equal in all vessels

[ T

Options :

1908892365. 1
1908892366. 2
1908892367. 3

1908892368. 4

Question Number : 17 Question Id : 190889608 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892365. 1
1908892366. 2
1908892367. 3

1908892368. 4

Question Number : 18 Question Id : 190889609 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire can sustain the weight of 20 kg before breaking. If the wire 15 cut nto two equal pieces.
each part can sustain a weight of

10 ke
20 ke
40 kg
80 kg

|

e

Options :
1908892369. 1
1908892370. 2

1908892371. 3



1908892372. 4

Question Number : 18 Question Id : 190889609 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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10kg
20ke
40kg
80 kg
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Options :

19088923609. 1
1908892370. 2
1908892371. 3

1908892372. 4

Question Number : 19 Question Id : 190889610 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphere falls with a terminal velocity of 20 m/s 1 air. If 1t 1s now allowed to fall in
vacuum

terminal velocity will be 20 m/s

terminal velocity will be less than 20 m/s
terminal velocity will be more than 20 m's
there will be no terminal velocity

o

ol

Options :

1908892373. 1
1908892374. 2
1908892375. 3
1908892376. 4



Question Number : 19 Question Id : 190889610 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1908892373. 1
1908892374. 2
1908892375. 3

1908892376. 4

Question Number : 20 Question Id : 190889611 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following graphs represent the relation between capillary r1se h and the radius r of
the capillary?

h 4
D

C
A

B

> T

E. B
26
3. B
4. A
Options :

1908892377. 1
1908892378. 2
1908892379. 3

1908892380. 4

Question Number : 20 Question Id : 190889611 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892377. 1
1908892378. 2
1908892379. 3

1908892380. 4

Question Number : 21 Question Id : 190889612 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two strings A and B. made of same material, are streched by same tension. The radms of A 15
double of the radius of B, A transverse wave travels in A with speed vy and in B with speed vg.
The ratio va/vg 15

R e
e b = =
| S

Options :

1908892381. 1
1908892382. 2
1908892383. 3

1908892384. 4

Question Number : 21 Question Id : 190889612 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892381. 1
1908892382. 2
1908892383. 3

1908892384. 4

Question Number : 22 Question Id : 190889613 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A small souree of sound moves on a circle as shown in figure and an observer 1s sittingat O.
Letva.vg and vc be the frequencies heard when the source 1s at A, B and C respectively. We can
then say :

1. > vg >0
X W=V >
. vp2V 2 Y
4, v >2vc >vp
Options :
1908892385. 1
1908892386. 2
1908892387. 3

1908892388. 4

Question Number : 22 Question Id : 190889613 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892385. 1
1908892386. 2
1908892387. 3
1908892388. 4

Question Number : 23 Question Id : 190889614 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the temperature of a uniform rod 1s slightly iereased by At. its moment of inertia | about a
perpendicular bisector will increases by, (L = length of rod, = = coefficient oflinear expansion)

Zero

u L At
2al At
JalAt

e =

[ ]

Options :

1908892389. 1



1908892390. 2
1908892391. 3

1908892392. 4

Question Number : 23 Question Id : 190889614 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908892389. 1
1908892390. 2
1908892391. 3

1908892392. 4

Question Number : 24 Question Id : 190889615 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following parameter is the same for molecules of all gases at a given temperature?

density

speed
momentum
kinetic energy

bl

e tas

Options :

1908892393. 1
1908892394. 2
1908892395. 3



1908892396. 4

Question Number : 24 Question Id : 190889615 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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1908892393. 1
1908892394. 2
1908892395. 3

1908892396. 4

Question Number : 25 Question Id : 190889616 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let Cp andCy denote molar heat capacities of an 1deal gas at constantpressure and constant
volume respectively. Which of the following is auniversal constant?

b =

3:

k. CHE,
Options :
1908892397. 1
1908892398. 2

1908892399. 3
1908892400. 4



Question Number : 25 Question Id : 190889616 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892397. 1
1908892398. 2
1908892399. 3

1908892400. 4

Question Number : 26 Question Id : 190889617 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton and an electron are placed in an electric field. Then we can say -

1. The electric force acting on them are equal

2. The magnitude of the forces are equal

3. Their accelaration are equal

4. The magnitude of their accelaration are equal
Options:

1908892401. 1
1908892402. 2
1908892403. 3

1908892404. 4

Question Number : 26 Question Id : 190889617 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

1908892401. 1
1908892402. 2
1908892403. 3

1908892404. 4

Question Number : 27 Question Id : 190889618 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A uniform electric field of magnitude E = 100 N/C exists i the space in X - direction. Calculete
the flux of this field through a plane square area of 10 em” placed in Y - Z plane

1.0Nm’/C
10N m’/C
10*N m’/C
0.01 N m’/C

[ A

Options :

1908892405. 1
1908892406. 2
1908892407. 3

1908892408. 4

Question Number : 27 Question Id : 190889618 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X - # ™ T W E =100 N/C IRAWT 7 0F TAF faega & fTud §) vz
TAAT H TW 10em’$ FAAA 39 TG & IR T el HFIE 70T FY

1.0 Nm/C
10N m’/C
10*Nm’/C
0.01 N m’/C

bl ek

Options :

1908892405. 1
1908892406. 2
1908892407. 3

1908892408. 4

Question Number : 28 Question Id : 190889619 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equivalent capacitance of the combination shown in figure 1s -

C
| |
[ |
C

| |
||
C

1. €

2, 20

B 012

4. 3C

Options :

1908892409. 1
1908892410. 2



1908892411. 3

1908892412. 4

Question Number : 28 Question Id : 190889619 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fry & femre agen i Jou aftar & -

C

| |

||

C

] |

| |

C
L €
Z.. 10
3. Cf2
4. 3C
Options :

1908892409. 1
1908892410. 2
1908892411. 3

1908892412. 4

Question Number : 29 Question Id : 190889620 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The current supplied by the battery in the circuit shown in the figure 1s, (neglect internal
resistance of the battery)

120

12Q

3{ 120 | 12Q

1.0A
316 A
3/12A
3/6 A

I N R S R

Options :

1908892413. 1
1908892414. 2
1908892415. 3
1908892416. 4

Question Number : 29 Question Id : 190889620 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fra av o & ooy & b aEm o i ol E Eh f sehe SiReeE
0T §)

120
W,
g % 120
W 1na | 120
1. 1.0A
2. 3/16A
3. 312A
4. 36A
Options :

1908892413. 1
1908892414. 2
1908892415. 3

1908892416. 4

Question Number : 30 Question Id : 190889621 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two resistors R and 2 R are connected i parallel n an electric circuit. The thermal energy
developed in R and 2 R are in the ratio :

e =

1 : 4
1 B |
3. 2
4, 1:1

el )

Options :
1908892417. 1
1908892418. 2

1908892419. 3



1908892420. 4

Question Number : 30 Question Id : 190889621 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T% faegd o9y & 2 9ioRivs RAW 2R EFAN FE §| A9 FA RFA2RE
7 3qea # 3 AT E -

[
e —

[ = ]
= a2

Options:

1908892417. 1
1908892418. 2
1908892419. 3

1908892420. 4

Question Number : 31 Question Id : 190889622 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cell of 2 V and internal resistance 0.5 Q connected across a resistance of 9.5 . How many
electrons cross through a cross - section of the resistance in 1 second ?

125x 10"
1.25x 10"
1.25x 10"
125x10%

b —

s g

Options:

1908892421. 1
1908892422. 2
1908892423.3

1908892424. 4



Question Number : 31 Question Id : 190889622 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2VEH T T 0.5 QF HANF FFeki 05 0 F Ffady &3 §1 3503 & 9fey &
FITEEs ¥ e geea o &

1. 125x10"
2. 1.25x 10"
3. 1.25x 10"
4. 1.25x10%
Options :

1908892421. 1
1908892422. 2
1908892423. 3

1908892424. 4

Question Number : 32 Question Id : 190889623 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What will be reading of the Voltmeter in the circuit shown below? Resistance of the voltmeter 15
600 Q.

@BGOQ

i

VWA VWA
300Q 200Q

| "100v

60V
75V
50V
4V

e e R

Options :

1908892425. 1
1908892426. 2
1908892427. 3

1908892428. 4

Question Number : 32 Question Id : 190889623 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A fe@w a9y & JecAdT FUST FAT ZEM? oA F FaT 600 Q F

600 Q
©

VW VWA
3000 200Q

| "100v

60V
5V
50V
40V

e Lo bo =

Options :

1908892425. 1
1908892426. 2
1908892427.3

1908892428. 4

Question Number : 33 Question Id : 190889624 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The equivalent resistance of the network shown in the figure below between the points a and b
18,

80

10
32Q
410
Zero

e g B =

Options :

1908892429. 1
1908892430. 2
1908892431.3

1908892432. 4

Question Number : 33 Question Id : 190889624 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A for B # o Rt a T v F i ATEd F JeT wiaw § -

29
32 Q
440

=

B N I

Options :

1908892429. 1
1908892430. 2
1908892431. 3

1908892432. 4

Question Number : 34 Question Id : 190889625 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A room heater 15 rated 500 W, 200 V. If the supply voltage drops to 100 V., what will be the
power consumed?

1. 500 W
2. 250W
3. 125W
4. Zero

Options :

1908892433. 1



1908892434. 2
1908892435. 3

1908892436. 4

Question Number : 34 Question Id : 190889625 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et FAT F 8T F AT 500 W.200 VR TfE TaITeT Steear 100V S £ suA
TUF & 3Tt foega it A e -

500 W
250 W
125W
e

L%

b

= ]

Options:

1908892433. 1
1908892434. 2
1908892435. 3

1908892436. 4

Question Number : 35 Question Id : 190889626 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Three particles : electron. proton, He' are projected with same velocity perpendicular to a
uniform magnetic field. Which of them will deseribe the smallest cirele?

electron

proton

He

All will describe circle of same radius

R

Options :
1908892437. 1
1908892438. 2

1908892439. 3



1908892440. 4

Question Number : 35 Question Id : 190889626 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A FOT ForFelel, i, He 1 HAST Trad &7 & H¥owd TAW 307 & aift
AT ST €1 3H ¥ FiF T FHeAH Jed H AT 2

1. goFgd
g

3. He
4. T FAWRSAT F Ied H g

[ ]

Options :

1908892437. 1
1908892438. 2
1908892439. 3
1908892440. 4

Question Number : 36 Question Id : 190889627 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Figure shows a current loop having two section of circular loops joined by two radial lines. The
net magnetic field at the centre O 1s,

1. Buul(b“ﬂ]
dmab
7 Oui(b—a)
2mab
3. Gppi(b—a)
mab
4. Zero
Options :

1908892441. 1
1908892442. 2
1908892443. 3

1908892444. 4

Question Number : 36 Question Id : 190889627 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fory forrar & &% v arw arer gigedia W T@ar g S &t e Yt gan S
§1 5% O ol LT &7 ¢

Options :

1908892441. 1
1908892442. 2
1908892443. 3
1908892444. 4

Question Number : 37 Question Id : 190889628 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The magnetic susceptibility 1s negative for.

Paramagnetic materials only

Diamagnetic materials only
Ferromagnetic materials only
Paramagnetic and ferromagnetic materials

|

5w

Options :

1908892445. 1
1908892446. 2
1908892447. 3

1908892448. 4

Question Number : 37 Question Id : 190889628 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I JIATEaT 348 ¥ g forr Homeas # -

1. I T FFahg ey & v

2. I gy Ty & forw

3. %ad dig Fahg Terd F o

4. SOEFEHT FUT SE gEER e F v

Options :

1908892445. 1
1908892446. 2
1908892447.3

1908892448. 4

Question Number : 38 Question Id : 190889629 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two conducting circular loops of radii Ry and R, areplaced in the same plane with their
centres coineiding. The mutual inductance between them will be, (Ry <<R;)

R,
Holl R§
R
3 Hom Rf
2R,
som RS
2R,

| -}

Options :

1908892449. 1
1908892450. 2
1908892451. 3

1908892452. 4

Question Number : 38 Question Id : 190889629 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ry T R, 3501 & & §9g Jedid 9 WA FRAS & 3 GOl Fal W >
M §| 395 9 WER JRARS g9, (Ry <<R)

i pﬂrer
R,
a pgrng
Ry
3 ugm Ry
2R,
uom RS
A el
2R,
Options :

1908892449. 1
1908892450. 2
1908892451. 3

1908892452. 4



Question Number : 39 Question Id : 190889630 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An alternating current having peak value of 14A 1s used to heat a metal wire. To produce the
same heating effect. 1f we use constant current 1, then 1 will be nearly -

14A
20A
TA

10A

e L b

Options :

1908892453. 1
1908892454. 2
1908892455. 3

1908892456. 4

Question Number : 39 Question Id : 190889630 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4AS T A I Tedmad! 9N T 91 A% A TH A F o 589 g g
A JHT YT F 309 I F o0, I 77 THREAR O YA #7959
F1 foeam 7 g 2

14A
204
TA

10A

N N

Options:

1908892453. 1
1908892454. 2
1908892455. 3

1908892456. 4

Question Number : 40 Question Id : 190889631 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ac voltage across a resistance can be measured using

1. A potentiometer

2. Moving coil galvanometer

3. A hot wire voltmeter

4. A moving magnet galvanometer
Options :

1908892457. 1
1908892458. 2
1908892459. 3

1908892460. 4

Question Number : 40 Question Id : 190889631 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frfaf@a & ¥ FeF 799 ¥ 930y F ¥R Uoarad! uRT aleed ATdr o
THT § -

1. % e

TAIATT S AoaallAeT

3. TF T aR oA

4. U FoAR TFahid AedaliAe]

[

Options :

1908892457. 1
1908892458. 2
1908892459. 3

1908892460. 4

Question Number : 41 Question Id : 190889632 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

If the frequency of light in a photoelectric experiment is doubled, the stopping potential will
be :

1. doubled

2. more than double
3. half

4. less than double

Options :

1908892461. 1
1908892462. 2
1908892463. 3

1908892464. 4

Question Number : 41 Question Id : 190889632 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ATE FaHTer ST TN A TH H AFfed SIS ¢, ar e fawa ghm
1. e

. I ¥ A

3. e

:Eﬂ?ﬁﬂw

[ ]

o

Options :

1908892461. 1
1908892462. 2
1908892463. 3

1908892464. 4

Question Number : 42 Question Id : 190889633 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Assuming Bohr's model, the radius of Li" " 10ns in its ground state will be, (ground state radis of
hydrogen atom is 5.2 x 10" m)

52x 10'11111
104x10Mm
15.6x 10
1.8x 10 m

e —

Options :

1908892465. 1
1908892466. 2
1908892467. 3
1908892468. 4

Question Number : 42 Question Id : 190889633 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A1ET Al F AR LiT 70 Fr B 39l sqeataa sEe & @9l @msew
A T Fedtad FEE A2 x 107 m)

52x10Mm
104x10Mm
15.6x10Mm
18x 10 m

J el bl

Options :

1908892465. 1
1908892466. 2
1908892467. 3

1908892468. 4

Question Number : 43 Question Id : 190889634 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



As the mass number A inereases, which of the following quantities related to a nueleus do not
change?

mass
volume
density

binding energy

bt —

P o

Options :

1908892469. 1
1908892470. 2
1908892471.3

1908892472. 4

Question Number : 43 Question Id : 190889634 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A WEH # 3¢ 89 W FegF ¥ Gag ArAerd B § FA-H A F qRa0a
e & £

1. @A
AT d=

3. 99
4, TIT FaT

[ ]

Options :

1908892469. 1
1908892470. 2
1908892471.3

1908892472. 4

Question Number : 44 Question Id : 190889635 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In which of the following decays. the element does not change?

a -decay
B - decay

1

2

3. J -decay

4. y-decay
Options:
1908892473. 1
1908892474. 2
1908892475. 3
1908892476. 4

Question Number : 44 Question Id : 190889635 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T=faf@a FiF ¥ &899 # 93 fEafda & gar

1. -89
g -&aa
3. -89
y- &1

¥

| ]

e

Options :

1908892473. 1
1908892474. 2
1908892475. 3

1908892476. 4

Question Number : 45 Question Id : 190889636 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In communication system, the device which is used to convert one form of energy into another is
known as -

transducer
transmitter
modulator
repeater

e e BT e

Options :

1908892477. 1
1908892478. 2
1908892479. 3
1908892480. 4

Question Number : 45 Question Id : 190889636 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T TYIUT GUTET & R 3o & UF W9 # g # el W § TEd 3
T IR 7 -

Options :

1908892477. 1
1908892478. 2
1908892479. 3
1908892480. 4

Question Number : 46 Question Id : 190889637 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A thin lens of focal length +10cm 15 immerse 1n a transparent liquid ( i = 1.2). Its new focal length
will be - (for glass # =1.6)

10 cm
12 em
18 cm
20 cm

D —

L

Options :

1908892481. 1
1908892482. 2
1908892483. 3

1908892484. 4

Question Number : 46 Question Id : 190889637 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

+10cm B T F TF 9ae ofF F e 37 (1 =12)# fnfeaa far mr 21
T AT Brebel & g (FIT F T 4= 1.6)

10 em
12 em

[

18 cm
20 em

e

Options:

1908892481. 1
1908892482. 2
1908892483. 3

1908892484. 4

Question Number : 47 Question Id : 190889638 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two sources are called coherent if they produce waves :

of equal wavelength

of equal velocity

having same shape of wavefront
4. having a constant phase difference

b

L]

Options :

1908892485. 1
1908892486. 2
1908892487. 3

1908892488. 4

Question Number : 47 Question Id : 190889638 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3l T HEFS Feold & T § F36 399 FId &

1. HAH J3T &&F Jreir
2. HHATA FT Jrer

3. g0 F §AT AT @adre)

4. T AT B 397 TGS

Options :

1908892485. 1
1908892486. 2
1908892487. 3

1908892488. 4

Question Number : 48 Question Id : 190889639 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following phenomena confirms that light 1s a transverse wave:

1. Interference
2. Diffraction
Reflection
Polarization

il

Options :

19088924809. 1
1908892490. 2
1908892491. 3

1908892492. 4

Question Number : 48 Question Id : 190889639 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFrafafEd # ¥ 719 @ Tieear @ FuifE g § & 99 o smey a g

).
3. WEaT
4, YT

-

Options :

1908892489. 1
1908892490. 2
1908892491. 3

1908892492. 4

Question Number : 49 Question Id : 190889640 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let 1. 1. and 1, represent the emitter current. the collector current and the base current
respectively in a transistor. Then we can say

¢ 15 slightly smaller than 1.
ic 15 slightly greater than 1
ip 15 slightly greater than i
i 15 slightly greater than 1,

| S

i o

Options :

1908892493. 1
1908892494, 2
1908892495. 3
1908892496. 4

Question Number : 49 Question Id : 190889640 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A o F i1 3T o Rl SforeT & FR So0eE O TS O A AW
URT FT Fiafetecd 0 81 09 &7 $g T & |

L i i3 Y& 918 B
2. i LT 3YET ATE FETE
3. iy, ic T ST 4 T
4. iy i, PT HUET U

Options :

1908892493. 1
1908892494, 2
1908892495. 3
1908892496. 4

Question Number : 50 Question Id : 190889641 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The truthtable given below represents the logic gate:

Input | Output
A Y

ol el == B =
el =l =R v
o= ==

NOR
NAND
OR
NOT

b =

Lo

Options :

1908892497. 1
1908892498. 2
1908892499. 3

1908892500. 4

Question Number : 50 Question Id : 190889641 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A & It Tog o dites e gt ¢

3ot | foreta

el Rl =1 =0 =
=S =S| m
O | b | b | e | =

NOR
NAND
OR
NOT

ba =

o faa

Options :
1908892497. 1
1908892498. 2

1908892499. 3



1908892500. 4

Part B Chemistry

Section Id : 19088925
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 19088951
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 190889642 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following polymers 1s NOT an example of chain growth polymerization?

Polythene
Bakelite

Teflon
Polyacrylonitrile

b

o

Options :

1908892501. 1
1908892502. 2
1908892503. 3

1908892504. 4



Question Number : 51 Question Id : 190889642 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FAffed # @ T @ agF 4T 3fg TGP H 3T FeT £

Options :

1908892501. 1
1908892502. 2
1908892503. 3

1908892504. 4

Question Number : 52 Question Id : 190889643 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the given reaction:

1.Conc.H2504
2. Ag. NaOH

CHa(CH2)41gCH20OH

'A'1s:

Sodium salt of alcohol
Non-ionic detergents
Cationic detergents
Anionic detergents

b =

W

Options :

1908892505. 1
1908892506. 2
1908892507. 3

1908892508. 4



Question Number : 52 Question Id : 190889643 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a1 1 wfAfRar 7

1.CDHG.H35CM__

CH3(CH2)10CH20H
3(CH2)10 2. Ag. NaOH

‘Al gl
1. UcHIgd &1 ST J9o7

2. EAIEEAF ITATS

. YATgfAS FIHATSS
4. HOTATSAF HTATAF

Options:

L)

1908892505. 1
1908892506. 2
1908892507. 3

1908892508. 4

Question Number : 53 Question Id : 190889644 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the chemical composition in List I with its name in List IT

List I List TI

Chemical Composition .Reagent

A Benzenesulphonyl chloride I Tollen's reagent

B. Anhydrous ZnCl, + Cone. HC1 [II. Fehling A solution .
C. Ammonical silver nitrate L. Hinsberg’s rea gen‘r.
D. Aqueous CuSOy solution IV. Lucas reagent

Choose the correct answer from the options given below:

A-IV, B-III. C-I. D-II
A-IIT. B-IV, C-I. D-II
A-III, B-IV, C-II, D-I
A-L B-II. C-IV. D-III

b =

N

Options :

19088925009. 1
1908892510. 2
1908892511.3

1908892512. 4

Question Number : 53 Question Id : 190889644 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T -1H T v mentas gueat 7 @ -0 & RT v 59 AW ¥ gafen fifav

T -l T -1

THTA® Fued CIEETED

A FFATTOHIAT FANTTS L 3R FAw

B. 9% ZuCl, + §leg HC I1. e A forergat

C. yATAF e AEee 1. f=maer 3T
D. CuSO,FT ol g IV, T8 AT
A fav v B & § 1 3o v

A-IV, B-III, C-1. D-II
A-IIL B-IV, C-L. D-II
3. AL B-IV, C-II. DI
4. A-LB-II C-IV, D-III

b bt

Options :

19088925009. 1
1908892510. 2
1908892511. 3

1908892512. 4

Question Number : 54 Question Id : 190889645 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Benzoie acid and phenol can be distinguished in laboratory on the basis of:
A. Sodium bicarbonate test

B. Bromine water test

C. Tollen’s test

D. Luecas test

Choose the correct option from the options given below:

1. Aonly
2. AandB only
3. Aand C only

o

B and C only
Options :
1908892513. 1
1908892514. 2
1908892515. 3

1908892516. 4

Question Number : 54 Question Id : 190889645 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Troled T AN P H g T § —— & IUR W ek T o

HRT §

A WA SEFTElAC THET0T

B. ST el qdieor

C. TTeleT SvaToT

D. FH T80T

ARy R o et # & wad 3R R 7

1. Fad A

2. AT A NN B
3. FadAHR C
4. FIABHR C

Options :

1908892513. 1
1908892514. 2
1908892515. 3

1908892516. 4

Question Number : 55 Question Id : 190889646 Question Type

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the following reaction:

M
H;C@CDDI—E B o B

The number of apz hybridized carbons in ‘B’ 1s:

R e
L G0 =1 T

: MCQ Option Shuffling : No Is



Options :

1908892517. 1
1908892518. 2
1908892519. 3
1908892520. 4

Question Number : 55 Question Id : 190889646 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fAfof@a sffFar 7 -

HH; A
HC COOH =———= A —— » B

‘B'H sp' GHIT el $T TEAT & :

o Lo b
L G0 =1 Th

Options :

1908892517. 1
1908892518. 2
1908892519. 3
1908892520. 4

Question Number : 56 Question Id : 190889647 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the following reaction:

H, H-
g HEC‘—CEC—'CHE = . LY
Ma / Lig. NH, Pd/C

The products ‘A’ and ‘B’ are:

Identical compounds
Optical 1somers
Geometrical 1somers
Structural 1somers

LAl b ek

e

Options :

1908892521. 1
1908892522. 2
1908892523. 3

1908892524. 4

Question Number : 56 Question Id : 190889647 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fArafaf@a s 7.
Ha
B - < H,C-C=C-CH, A2 >
Na / Liq. NH, Pd/C

3K ‘A’ 3R B’ &

1. AT AifEFE
Ui gATEIT
. SOTATT gATgag

4. EIIATCHS GATEGIT

| ]

Fal

Options :

1908892521. 1
1908892522. 2
1908892523. 3

1908892524. 4



Question Number : 57 Question Id : 190889648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following compounds does not react with sodium metal?

Ethyne

1-Pentyne
2-Pentyne
1-Propyne

L B

e

Options :

1908892525. 1
1908892526. 2
1908892527. 3

1908892528. 4

Question Number : 57 Question Id : 190889648 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fafofaa & ¥ #i9 o1 3l oiftgw ag & 3fatFa a@ s g0

1. TUTSS
1- 9=eT8aT
3. 2-YearEd
1 - JraTE

Options :

| ]

-

1908892525. 1
1908892526. 2
1908892527. 3

1908892528. 4

Question Number : 58 Question Id : 190889649 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For the detection of carbon 1n organic compounds. it 1s first treated with reagent ‘X’ on heating
to get COy. X' 15

CmO

CuO

CuS0Oy
CuS04.5H,0

Kol bk

it

Options :

1908892529. 1
1908892530. 2
1908892531. 3

1908892532. 4

Question Number : 58 Question Id : 190889649 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fefes T § F6a F 799 F 0 FEaF 3T 7 X F qY WH
A WCO,TIFNEN X &

CwO

Cn0O

3. CuS0y

4, CuSO45H0

b

Options :

1908892529. 1
1908892530. 2
1908892531. 3

1908892532. 4

Question Number : 59 Question Id : 190889650 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ninhydrin reacts with amino acid to form colored complex. The equivalent ratio of ninhydrin
and amino acid used in the reaction 1s respectively:

Fodd
—t
e

I Laa
—t
Lad

Options:

1908892533. 1
1908892534. 2
1908892535. 3

1908892536. 4

Question Number : 59 Question Id : 190889650 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s e 3w ¥ Ty WA N T Secoy g g1 39 A
7 AEsiEa AT e 3 A e HAT FA £

e Laa D
| -
f—

Options :

1908892533. 1
1908892534. 2
1908892535. 3

1908892536. 4

Question Number : 60 Question Id : 190889651 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: g-D-Glucose 1s a dextrorotatory compound.
Reason R: The notation ‘D’ i «-D-Glucose represents its dextrorotatory nature.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 15 not correct but R 1s correct

[

TSN

Options :

1908892537. 1
1908892538. 2
1908892539. 3
1908892540. 4

Question Number : 60 Question Id : 190889651 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 3 FYA U 0§ 0F Fr JWFUA (A) 3 I F FWOT(R) FT A g

m{A):a-D-mewwmmgl
FRT(R) : 0-D - TAFR H Fhelel 'D' ETETT 0T YOI FHfd FT FAT &

mwﬂ?mwﬁﬁvwﬁmﬁ#mﬁmﬁmaﬁgﬁ:

[E—

(A) 3R (R) =1 TEr § 3R (R). (A) Fr T8 =TT £
(A) 3R (R) S T § Red (R). (A) FT Wer e 6 gl
(A) TET & Wed (R) WeT e ¢

(A) WEY 6T § e (R) W B

Options :

[ ]

L)

o

1908892537. 1



1908892538. 2
1908892539. 3

1908892540. 4

Question Number : 61 Question Id : 190889652 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the anomeric carbon in the given structure of a-D-glucopyranose.

1
C2 and C3
C4 and C5
C6

1.

et

Options:

1908892541. 1
1908892542. 2
1908892543. 3

1908892544. 4

Question Number : 61 Question Id : 190889652 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



¢-D - TSRS FT &1 78 AT A CAARE FHaad P I8l

2. C23RC3

3
4. Co

Options:

1908892541. 1
1908892542. 2
1908892543. 3
1908892544. 4

Question Number : 62 Question Id : 190889653 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Do
, undergoes cleavage in the presence of HU/A to give:

CHol + @m
CHzOH + @|

OC

[

Or-oe<T)
3 Y 4
Orons Oo
4.
Options :

1908892545. 1
1908892546. 2

1908892547. 3



1908892548. 4

Question Number : 62 Question Id : 190889653 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q_CHEG@. HUA &7 3ufefay & fufRadest  &ar &

[ ]
2]
==
P
Q
=L
+

Options:

1908892545. 1
1908892546. 2
1908892547.3

1908892548. 4

Question Number : 63 Question Id : 190889654 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Arrange the following compounds in inereasing order of acidity:

OH s oH .
o @,Nﬂg @;HJ
A-© ; B- ; c-©; D-

1. DKC<A<B
2 C<D<A=H
3. DX ASBEE
4 A<D<B<C



Options :

1908892549. 1
1908892550. 2
1908892551. 3
1908892552. 4

Question Number : 63 Question Id : 190889654 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FTaT@g i & 3=gdr & §ed 5 & Iareyd #:Y

OH

T = i NO; @,-CH:
A- ; B- ; C- ;DN

¥

1. D<Cx<A<B

2. C<D<A<B

3. D<A<B<C

4, A<D<B<E
Options :

1908892549. 1
1908892550. 2
1908892551. 3

1908892552. 4

Question Number : 64 Question Id : 190889655 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ListI List IT
Reaction Type of reaction
MO MO

@ Mt O @ I. Nucleophilic substitution
NCs

A
Alc. KOH
/\Blr/ e e R II. Saytzetf elimination
B.

OH
NaOH i g
e ITI. Electrophilic addition
High Temp.
c. NO; NO2
Bf ag [l '
e e HBr o~ IV Electrophilic substitution

D).

Choose the correct answer from the options given below:

1. A-IL B-IV, C-III. D-I
2. A-IV. B-II, C-III. D-1
3. A-IV. B-II C-I. D-III
4. A-IL B-IV. C-1. D-III

Options:

1908892553. 1
1908892554. 2
1908892555. 3

1908892556. 4

Question Number : 64 Question Id : 190889655 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



g -1 & s sfdfEast sy -0 A e v 39 en @ gafaa fivw

-1 & -1
EIEIET yffET #1 TR
NG, NQy
@ N @ 1. Afeeel Sfwme
NG,
A ‘

Alc. KOH e
Aalr/ —_— Y 11 ¥ faeaer
B.

OH
NaOH -
_ 1. 533@3@% Hehelodd
High T emp.
NO, NO,

L a "

Br [
PR ke IV. SolFcTaleatal SfceTds

D

A T 710 faFedt & & E 3o} gAv

A-TIL B-IV, C-IIL D-1
A-IV, B-II, C-IIL. D-I
A-IV, B-II, C-I. D-III
A-TIL B-IV, C-1. D-III

| e

S

Options :

1908892553. 1
1908892554. 2
1908892555. 3

1908892556. 4

Question Number : 65 Question Id : 190889656 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For the given reaction:

o OH
1. NaQOH, 300 atm, High Temp.
2. H*

)

The rate of the reaction will be maximum. when “3X 1s:

H

NO;
CN
COOH

|

5o

Options :

1908892557. 1
1908892558. 2
1908892559. 3

1908892560. 4

Question Number : 65 Question Id : 190889656 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AR T =
i OH
1. NaOH, 300 atm, High Temp. .
2 H* -
X X

HTATRAT Fr afa FThad gel. JF X 819 ;

H

NO»
CN
COOH

Fu Lo b

Options :
1908892557. 1
1908892558. 2



1908892559. 3

1908892560. 4

Question Number : 66 Question Id : 190889657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the incorrect option for the role of addition of phosphates 1n water.

1. Enhances algae growth.

2. Reduces the oxygen concentration in water.
Causes Eutrophication.

4. Purification of water.

faa

Options :

1908892561. 1
1908892562. 2
1908892563. 3

1908892564. 4

Question Number : 66 Question Id : 190889657 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ut # BrEhe e i q{fFEE & o wea RFew &1 a3d F

1. darer #r gfg e g

. T & 3T T Figar gerdr g
. AT (FEIR) T §

. OTAT T QRGHIOT BT E

e [ ]

I

Options :

1908892561. 1
1908892562. 2
1908892563. 3
1908892564. 4



Question Number : 67 Question Id : 190889658 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following amines:

CHNH, NH3 ClONHE HL:@‘NHE
ﬂ*@ s B- Q - W4 - D-

The basic strength of these amines in increasing order 1s:

. E<B<A<B

2. D<B<C<A

3. C<D<B<A

4. D<C<B<A
Options :

1908892565. 1
1908892566. 2
1908892567. 3

1908892568. 4

Question Number : 67 Question Id : 190889658 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fAatof@a v A7

@—cazrm_, @—HH; m—@-nm r-u:—@rwﬂ;
A- ;. B- » C- : D

31 VeI & ToIT aTRIaT &7 ot A g

1. C<D=<A<B
2. D<KB<C<A
3. C<D<B<A
4 D=<C<B<A

Options :



1908892565. 1
1908892566. 2
1908892567. 3

1908892568. 4

Question Number : 68 Question Id : 190889659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Tons of the same charge in a 3d series show progressive decrease n radms with
mereasing atomic number,

Reason R: As the new electron enters in a d-orbital. the nuclear charge mereases by unity.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 15 not correct

A 1s not correct but R 1s correct

o

s L

Options :

19088925609. 1
1908892570. 2
1908892571.3

1908892572. 4

Question Number : 68 Question Id : 190889659 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 & FuaT fov v § : vF A AARYT (A) 3R GE FT FROT (R) FET T £

Hﬁ?ﬂﬂ(amdﬁxﬁ#mmﬂmmmgmma:wﬁm#
Teica? FAT 2 ¥

FOT(R) : 3 & T SolFera d 3ifaee F 999 T £ A7 339 7 597
e g I gl

IET FUA F A & e e # ¥ 5 e 9

[E—

Q) ¥R (R) T T E AT (R). (A) FT T T

- (&) AT R) A TE E TG (R). (A) Fr T cE A
. (A) W § T (R) WET AL 2

- (A) W A E ] (R)FE A

Options :

e s [ -]

1908892569. 1
1908892570. 2
1908892571. 3

1908892572. 4

Question Number : 69 Question Id : 190889660 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following noble gases has highest positive electron gain enthalpy?

Ne
Ar
Kr
Xe

bt

e

Options :

1908892573. 1
1908892574. 2
1908892575. 3
1908892576. 4



Question Number : 69 Question Id : 190889660 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faeafof@a # @ 5 3cpee 39 1 goidee wfey Toed Had H#Us oaeRs 7 0

Ne
Ar
Kr
Xe

T U T pr—

Options :

1908892573. 1
1908892574. 2
1908892575. 3
1908892576. 4

Question Number : 70 Question Id : 190889661 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match the compound given in List I with its formula given 1n List IT

ListI List IT
Compound Formula

A Fluorspar I. CaFs

B. Cryolite I1. Ca3(PQ4)2.CaF>

C. Fluoroapatite [III. KC1.MgCl,.6H,0
D. Carnallite IV. NasAlFs

Choose the correct answer from the options given below:

A-II. B-IV, C-1. D-III
A-I. B-IV, C-III. D-II
A-II. B-IIL. C-L. D-IV
A-IL B-IV, C-II. D-III

LV S

=

Options:
1908892577. 1

1908892578. 2



1908892579. 3
1908892580. 4

Question Number : 70 Question Id : 190889661 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gEr -1 # for av diffwr o=@ -0 F gEr @ e w1

T -1 T -1

i+ Tl

A. FARTIR I. CaF;

B. FATATSE II. Ca3(POy)2.CaF;

C. FARITYEIEE TII. KC1.MgClL.6H 0
D. FAATSE IV. Na3AlFs

A T ar Feedt # ¥ #Er 3e gfAT

A-II. B-IV, C-1. D-III
A-I. B-IV, C-III. D-II
A-IIL B-IIIL, C-1. D-IV
A-I. B-IV, C-II. D-III

bt

et

Options :

1908892577. 1
1908892578. 2
1908892579. 3

1908892580. 4

Question Number : 71 Question Id : 190889662 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following hydrides does not possess reducing property?

H-O
H»>S
H)Se
H>Te

| ]

e G

Options :

1908892581. 1
1908892582. 2
1908892583. 3

1908892584. 4

Question Number : 71 Question Id : 190889662 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fFFafof@a & ¥ Fid 7 FEIEE HI9IS IUITH Al I@AT § 2

H,0
H)S

3. HySe
4. HiTe

| S

Options :

1908892581. 1
1908892582. 2
1908892583. 3

1908892584. 4

Question Number : 72 Question Id : 190889663 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Disproportionate reaction of HNO; gives mitrogenous compound ‘X’ and *Y’. Oxidation state of
Nin X' and ‘Y’ are

1. +4, +1
AR o e
1 5 s
I T
Options :

1908892585. 1
1908892586.

1908892587.

A W N

1908892588.

Question Number : 72 Question Id : 190889663 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HNO, #1 HEAIIT HHTHIT § A & A X H v oed g &1 N
HTFERIOT HIEAT X HT Y H FHU: E

+4,+1
+4,+2
+5,+2
+5,+1

e Ll D

Options :

1908892585. 1
1908892586. 2
1908892587. 3

1908892588. 4

Question Number : 73 Question Id : 190889664 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Gemstones, ruby and sapphire contain ‘A’ and ‘B’ respectively as impurities. ‘A’ and ‘B’ are

A=Co:B=0Cr
A=Cr:B=Co
A=Co:B=Co
A=CrnB=C

= e b

Options:

19088925809. 1
1908892590. 2
1908892591. 3

1908892592. 4

Question Number : 73 Question Id : 190889664 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ted GFT, T4 3R oA 7 AT HR B FA: wefEdr g &1 A dR B

A=Co:B=Cr
A=Cr:B=Co
A=Co:B==Co
A=CrB=Cr

[ e

i

Options :

1908892589. 1
1908892590. 2
1908892591. 3
1908892592. 4

Question Number : 74 Question Id : 190889665 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange 1¥ jonization enthalpy of group 13 elements in the increasing order.
(Tl In. Ga. Al)

Tl<In<Ga<Al
In<Ga<Al<TIl
In<Al<Ga<Tl
Tl<In<Al<Ga

b

W

Options :

1908892593. 1
1908892594. 2
1908892595. 3

1908892596. 4

Question Number : 74 Question Id : 190889665 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 13 % Tcd! F TIH ATA9 Ted & 980 F7 & FIEUd FT| (TL In, Ga, Al)

TI<In<Ga<Al
In<Ga<Al<TI
In<Al<Ga<Tl
TI<In<Al<Ga

= o bd

Options :

1908892593. 1
1908892594. 2
1908892595. 3

1908892596. 4

Question Number : 75 Question Id : 190889666 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Reaction of quick lime slaked with soda gives compound 'X'. X' 15

NaQOH + CaO
NaOH + Ca(OH),
Na,0O + Ca0
NayO + Ca(OH)»

P et

oW

Options :

1908892597. 1
1908892598. 2
1908892599. 3

1908892600. 4

Question Number : 75 Question Id : 190889666 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T g0 I 1 @rEr F ary AfAGRr ¥ A X9 g € X'

NaOH + CaO
NaOH + Ca(OH)»
NaxQ + Ca0
NayO + Ca(OH);

M I

Options :

1908892597. 1
1908892598. 2
1908892599. 3

1908892600. 4

Question Number : 76 Question Id : 190889667 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The element with atomic number 55 belongs to

Group 1
Group 3
Group 15
Group 17

b

o

Options :

1908892601. 1
1908892602. 2
1908892603. 3

1908892604. 4

Question Number : 76 Question Id : 190889667 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SIHAU] FHF 55 dcd HaOd §

1. T 1
2. F 3
. F 15
4. A 17

L]

Options :

1908892601. 1
1908892602. 2
1908892603. 3

1908892604. 4

Question Number : 77 Question Id : 190889668 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled
as Reason R

Assertion A: H' does not exist freely.
Reason R: Loss of the electron from hydrogen atom leads to nucleus, H of ~ 1.5 x 107 pm size.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A 15 not correct but R 1s correct

e

s

Options :

1908892605. 1
1908892606. 2
1908892607. 3

1908892608. 4

Question Number : 77 Question Id : 190889668 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A & FU U A0 § 0 AT (A) 3R g F FR0T(R) FT WA B
FRFYF (A): H &7 Hfcca Taa7 &9 & 780 g

FNT (R) : FTSZIoll WA & Foldciel BISel WX, Fel AT &1 PR ~ 1.5 % 10 pm
BIel &l

S FA ¥ e # P e 3 ¥ 3R 3

(4) IR (R) 2T FET E AR (R). (A) Fr FET T £

(4) 3R (R) ST FET & W (R). (A) HT FET ATEA T E
(

(

[e—

[ ]

L]

A) T & Red (R) Tl W ¢
A) T T & T (R) T 8

o

Options :



1908892605. 1
1908892606. 2
1908892607. 3

1908892608. 4

Question Number : 78 Question Id : 190889669 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given reaction,

A B C
2Cu;0 (s) + Cu,S (s) »  6Cu(s) + SOy (g)

The oxidation number of Cu are A, B and C. A. B and C are respectively

+1,
g

+2 +

+1.

L

-
I = =
a8 e R

o
+
f—

Options :

1908892609.

—

1908892610. 2
1908892611. 3
1908892612. 4

Question Number : 78 Question Id : 190889669 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



&r arg AfAfRRar A,

A B C
2Cu,0 (s) + CuyS (s) = 6Cu(s) + SO, (g)

FIT H HTFHFIOT FEAT A. B HT CEl A. B3R c.FAM: & ;

i, 2.0
+1,+1.0
2,10

), +2 +]

LV S ]

g

Options :

19088926009. 1
1908892610. 2
1908892611. 3
1908892612. 4

Question Number : 79 Question Id : 190889670 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following molecules/ species have same bond order?

Choose the correct answer from the options given below:

A and C only
A and B only
A. B and C only
4, Cand D only

L b

Options :
1908892613. 1

1908892614. 2



1908892615. 3
1908892616. 4

Question Number : 79 Question Id : 190889670 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faafoiaT T ov supEia=as & et 3me-yg Fife g9 ¢ 2
A .G

B. N,

A fow aT et & ¥ w9 3o 9

1. gl AHIT C
2. FFTAHT B
. Faa A.B3HR C
4. %I CHRI D

=

L %]

Options :

1908892613. 1
1908892614. 2
1908892615. 3
1908892616. 4

Question Number : 80 Question Id : 190889671 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one is labelled as Assertion A and the other i< labelled as
Reason R

Assertion A: Among halogens, chlorine has highest negative electron gain enthalpy value.
Reason R: The 1onic radius of C1 15 184 pm.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 15 NOT the correct explanation of A
A is correct but R is not correct

A 1s not correct but R 15 correct

b

oM

Options :

1908892617. 1
1908892618. 2
1908892619. 3
1908892620. 4

Question Number : 80 Question Id : 190889671 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 2 wud T v v F HEFUF (A) HR T FT FROT(R) FFT M £

HIAFUF (A): FAIAT H FaANA H o ey =44l Ty AQT FUMHT £
FROT(R) : CT Fr 3mafas =2 184 pm 24T 2

mﬂw FIA F AAF H A=A GFedt # § T Ieel I+

[

. (A) AT (R) AT TEY § 3T (R). (A) FT TEY T
- (A) 3R (R) T N E T (R). (A) T HET e TG L
. (A) T & W (R) T AL B
(AT T E g (R)FE

o L] [ ]

Options :
1908892617. 1

1908892618. 2



1908892619. 3
1908892620. 4

Question Number : 81 Question Id : 190889672 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s true for cathode ray discharge tube experuments?

1. The electric discharge through the gases could be observed only at very high pressure and

high voltages.

The characteristics of cathode rays depend upon the material of electrode.

3. The properties of cathode rays do not depend upon the nature of gas present in the
cathode ray tube.

4. On applying high voltage across the electrodes. current starts flowing from positive
electrode to negative electrode.

[ ]

Options :

1908892621. 1
1908892622. 2
1908892623. 3

1908892624. 4

Question Number : 81 Question Id : 190889672 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

efof@s & ¥ 37 @1 Fu FurE o Gaew st et F Pe @ d o

1. % Hew ¥ faegd fawe Fae 9gd 399 g 3R 39 dele W
T T £

2. urE RO ¥ e SRR ¥ et W e e E

3. %yt RN % qun, HurE TR Ao # IR 49§ 9§ W AR
e FA|

4, TOTIE ¥ 32T Tocd A W, UATHT o9eE § HUTCHAS Soideis 1 AN

YT Y3 g ST g

Options :



1908892621. 1
1908892622. 2
1908892623. 3

1908892624. 4

Question Number : 82 Question Id : 190889673 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The molarity of sucrose in the solution prepared by dissolving 1ts 114 g in water to form 300 mL
of solution 13

1. 1.11 % 10” mol cm’gﬁ
2. 1.11% 107 mol dm’
3: 141 » 1{]: molchn'?
4, 1.11 x 10" mol em™

Options :

1908892625. 1
1908892626. 2
1908892627. 3

1908892628. 4

Question Number : 82 Question Id : 190889673 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GHE F 114 g F Tl & AT 300 mL Fergar 7o €. foaa & g 1 Aona
¢l

1.11 x lﬁ'j mol cm'{
1.11 % 10™ mol dm™
1.11 * 10° mol dm™
1.11 * 10> mol em

[

Options :
1908892625. 1

1908892626. 2



1908892627. 3
1908892628. 4

Question Number : 83 Question Id : 190889674 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct?

A, Hydndes of group 13 act as Lewis acids,

B. On addition of gypsum to cement. the setting time decreases.
C. Diamond 15 thermodynamically most stable allotrope of carbon.
D. Beryllium exhibits coordination number of more than four.

E. Beryllium 1s not readily attached by acids because the presence of an oxide film of the surface
of the metal.

Choose the correct answer from the options given below:

A and C only
B and C only
3. Aand E only
4. Aand B only

[

Options :

1908892629. 1
1908892630. 2
1908892631. 3
1908892632. 4

Question Number : 83 Question Id : 190889674 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FERET AT FT T FIT T E

AT 13F FT5ERE Y ¥ I A% FE A {

B. U= ¥ Tocun e, did=e & 84 37 A7 92T 2|
C. 3N JRfEaTEs T § Fo4 F TI9 TUE J969 &
D. 3w I ¥ AR TFA TEA T £

E. INToms 3=ar ¥ e ¥ dfatEw 38 F1a £ F9E SHE 6 WOATEEEs
F er a7 T £ .

AR R AT et & ¥ W 3R I

1. Had AHT C
2 FABAR C
3. %99 AR E
4, FITAFTB

Options :

1908892629. 1
1908892630. 2
1908892631. 3

1908892632. 4

Question Number : 84 Question Id : 190889675 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are incorrect?

A. Frequency of radiation emitted by a body goes from lower frequency to higher frequency with
an increase in temperature.

B. Chromatography involves a mobile phase and a stationary phase.

C. Optically 1somerism 1s a very rare phenomenon in octahedral complexes involving bidentate
ligands.

D. In NH3 and HyO molecules, both the central metal atoms are sp’ hybridise and bond angle
H-N-H 15 lesser than that of H-O-H.

Choose the correct answer from the options given below:

. Aand B only
Aand D only
C and D only
B and C only

b —

pe ok

Options :

1908892633. 1
1908892634. 2
1908892635. 3
1908892636. 4

Question Number : 84 Question Id : 190889675 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FeoTEa 7 § Fi7 o1 U9 ¥57 27

A T iz @ seutea R & wefes e & 3 § 91 F7 AT §
34 Hqfed aF T £

B. F0rerEs & Tfeefier A R e g 2
C. {V FATAL, HThorhd FFel & Efageqy fonTs & |1y agd & gehy aee |

D. NH; 3V H,0 303l # gl Hfegg qwaAmgst &1 §H0rsp’ € 3N H-N- H 3=y
T H-0-H HE=T F0T T FH F|

A T 70 et # ¥ W I T

l. %9 AXN B
2. ®FT AFR D
3. &3 CHR D
4, FFTBHR C

Options:

1908892633. 1
1908892634. 2
1908892635. 3
1908892636. 4

Question Number : 85 Question Id : 190889676 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Expansion of a gas against external pressure (Py= 0) 15 called free expansion.

Statement II: No work 15 done during the expansion of an 1deal gas when the process 1s
reversible only.

In light of the above statements, choose the correct answer from the options given below

Both Statement I and Statement II are true
Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 15 false
4. Statement I 1s false but Statement II 1s true

| R

Options:

1908892637. 1
1908892638. 2
1908892639. 3
1908892640. 4

Question Number : 85 Question Id : 190889676 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A FuF T AT F

FYF - 1. TET T (Pex0) F I T F TOR AFT TR Fgannel 2|

FI - [[: 79 THA $9d 3HAVIT g & af 3ed 39 F 79 § FE F79 T2
gl

T FUA F AT 7 et TEe # ¥ 7 3o

1. FI7 13X 1341 F@r &)
2. FuF 1HR D= e £l
3. FUF 1HE 8, fheq F99 179 £
4. FUF 177000 8. fveg FYT TF 3

Options :

1908892637. 1



1908892638. 2
1908892639. 3

1908892640. 4

Question Number : 86 Question Id : 190889677 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Spontancous process 1s an irreversible process and may be reversed by some
external agency.

Statement IT: Decrease in enthalpy decides spontaneity of all process.

In light of the above statements, choose the correct answer from the options given below

Both Statement I and Statement I are true
Both Statement I and Statement II are false
Statement I 1s true but Statement II 15 false
Statement [ 1s false but Statement II 1s true

| T

i

Options :

1908892641. 1
1908892642. 2
1908892643. 3
1908892644. 4

Question Number : 86 Question Id : 190889677 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT FRRTATE

FUF - 1: 799 T9Tad ThH UF HHAVIT TRA 2 § 3R 37 et e oA
% TN & Sohied (6T 1 Tl ¢

FUT - 1. T30 & fEe ool o&at & w9 wafaar # fuifs w5 2
3T FUA F HAw A (aeforad awedr # ¥ T 3o I

1. U7 1AT N3= 7 &
2. FUF 13T N2 79T £
3. FUA 18 € feg w9 17ed £
4 FYF 17978, g FUT N TE 2

Options:

1908892641. 1
1908892642. 2
1908892643. 3

1908892644. 4

Question Number : 87 Question Id : 190889678 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List II

Material Conductance {Sm'l)
A Teflon L21x10° |
B. Pure Water [IL. 1.5 x 10~
C.Sodium  |IIL. 1.0 x 107%

D. Silicon  [IV.3.5x 107

Choose the correct answer from the options given below:

1. A-IV, B-II, C-I. D-III
2. A-IV, B-III. C-II. D-I
A-III, B-IV, C-II. D-I
A-III B-IV, C-1. D-II

B



Options :

1908892645. 1
1908892646. 2
1908892647. 3

1908892648. 4

Question Number : 87 Question Id : 190889678 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=T -IFEET - § gRfeT ffST

Tt -1 gl -1

TeTef ATAFAT (Sm™)
A. TFATA .21x10°

B. S I IL 1.5 x 107

c. mifzawA mI.1.0x10™®
D. [t IV.3.5x 107

A fT ar wet # ¥ W@ 3cR) g

A-IV. B-IL. C-1. D-III
A-IV, B-III, C-1I. D-I
A-II, B-IV. C-1I, D-I
A-III B-IV. C-1. D-II

| ]

W

Options :

1908892645. 1
1908892646. 2
1908892647. 3

1908892648. 4

Question Number : 88 Question Id : 190889679 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For a general reaction. A+ 2B — C+D
Which of the following statements is correct?

1. Rate of disappearance of A = Rate of disappearance of B
2. Rate of disappearance of A = ': Rate of appearance of C

3. Rate of disappearance of A = ¥ Rate of disappearance of B
4. Rate of disappearance of A = ¥ Rate of appearance of D
Options :

1908892649. 1
1908892650. 2
1908892651. 3

1908892652. 4

Question Number : 88 Question Id : 190889679 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT ¥fFmA+ B c+DF T AR s e s wFm T £ 2

I A g AR figr =B gmam fr ¥
2 AFFE IR AT = 12CHA I TR A X
3. AR BT 31 #13T = 12BH B 2l $T &X
4, AW FH 8 T = 12D IE g FT W
Options :
1908892649. 1
1908892650. 2
1908892651. 3
1908892652. 4

Question Number : 89 Question Id : 190889680 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Thermal decomposition of Cly07 at 400 K 1n the gaseous phase to Clyand O 15 a first order
reaction with rate constant 6.932 x 10~ s, How much minutes are required for 90%
decomposition of C1,07 at 400 K?

1. 554
2. 16.61

. [

st
LA
b
b,
)

!

4. 3322
Options :
1908892653. 1
1908892654. 2
1908892655. 3

1908892656. 4

Question Number : 89 Question Id : 190889680 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

400K 719 R T TR # CLO, FTCL 3R 0, & T Faes 6.932x 107 &
P % wry o wuw Ffe & #BET §1 400K T W CLO0; F 90% FoUieT g
¥ forr v e aemr ©

5.54

16.61
33.32
332.2

d bk

o b

Options :

1908892653. 1
1908892654. 2
1908892655. 3
1908892656. 4

Question Number : 90 Question Id : 190889681 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ListT  |ListTI
Enzyme Source

A Zymase i Soyabean
B. Urease [IL Yeast

C. Pepsin  |ITI. Malt

D. Diastase IV. Stomach

Choose the correct answer from the options given below:

1. A-IL B-I, C-III. D-IV

2. A-II B-L, C-IV. D-III

3. A-L B-IIL C-IV. D-III

4. A-lL B-IIL C-III. D-IV
Options :

1908892657. 1
1908892658. 2
1908892659. 3
1908892660. 4

Question Number : 90 Question Id : 190889681 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A. FTASA 1 g
B. R ifie

. ofeg I1I. ATee

D. Ejppc) 'n-'. HTATAT

A feT ar BFedl # ® WEr Sea) AT ¢

1. A-II. B-I1. C-III. D-IV

2. A-IL B-L. C-IV. D-III

3. A-L B-II. C-IV. D-III

4. A-I B-II. C-IIL. D-IV
Options :

1908892657. 1
1908892658. 2
1908892659. 3
1908892660. 4

Question Number : 91 Question Id : 190889682 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: On dissolution of large number of atoms or smaller molecules of a substance
aggregate together to form species having size in the colloidal range (diameter > 1nm).

Statement IT: The word lyophobic means liquid hating.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II 15 false
4. Statement I 1s false but Statement II 1s true



Options :

1908892661. 1
1908892662. 2
1908892663. 3
1908892664. 4

Question Number : 91 Question Id : 190889682 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 2wy fer Aw

Foe - 1. el #  Ghe verd % agF & AW A 7Y ] HOE g O
ST v T T9 § o 3R S 9 (29 s ) BT £

FAS - [1: FFT g F ¥ £ g9 & O A T
3R FUA F A # il SEed # ¥ W 3

1. FUF 13T LA T2 2
2. F49 13T 124 w197 £
3. FY9 19 ¢ g F9a naed £
4, FYF 170 ¢, o FIT LFE £

Options :

1908892661. 1
1908892662. 2
1908892663. 3
1908892664. 4

Question Number : 92 Question Id : 190889683 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If a container have equal masses of CHy and Hj. then the mole fraction of CHy 1s

1/9
4/9
5/9
8/9

Lad b

o

Options:

1908892665. 1
1908892666. 2
1908892667. 3
1908892668. 4

Question Number : 92 Question Id : 190889683 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe Fdr F=¢at & CH: 3T Hy FT TAT Z<TAT TQT 21 3 CHy FT Jiel 39T
M|

1/9
4/9
5/9
8/9

| =

Fa

Options :

1908892665. 1
1908892666. 2
1908892667. 3

1908892668. 4

Question Number : 93 Question Id : 190889684 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

Law Formula

A. Charle’s Law I. P/'T = Constant

B. Gay Lussac’s Law [II. PV = Constant
. Boyle’s Law III. V/n = Constant
D. Avagadro's Law IV. V/T = Constant|

Choose the correct answer from the options given below:

1. A-II B-I. C-IV. D-III
2. A B-1V, C-III. D-1
3. A-IV, B-L C-II. D-III
4. A-IV, B-1II, C-II. D-I

Options :

1908892669. 1
1908892670. 2
1908892671. 3

1908892672. 4

Question Number : 93 Question Id : 190889684 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T -IFTEET -1 § GATeT HIT

o= -1 =t -11

ez T

A TTeE F TR I.P/T ="
B.3 - TF F s 11. pv= Tt
. a7 foraw 1. V/n = T8
D. EETEr F FIH IV. V/T = B2

A T AT et # ¥ HE 3o AT ¢

1. A-IL B-I. C-IV. D-III
2. A-L B-1IV. C-III. D-1
A-IV. B-1. C-II. D-III
A-IV, B-III, C-1I. D-I

ol

Options :

1908892669. 1
1908892670. 2
1908892671. 3

1908892672. 4

Question Number : 94 Question Id : 190889685 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the correct order of the packing efficiency for the simple cubic lattice. bee, cep and hep.

hep > cep > bee > Simple cubie lattice
. hep < cep < bee < Sumple cubic lattice
hep = cep < bee < Simple cubic lattice
hep = cep > bee > Simple cubie lattice

[

Options :
1908892673. 1
1908892674. 2

1908892675. 3



1908892676. 4

Question Number : 94 Question Id : 190889685 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WH?ﬁ'ﬂm.bcc.ccpmhcp$wma?ﬂ%&ﬁ'3ﬁﬂﬁﬂl

1. hep > cep > bee > BT HAIT ATeleh

=

2. hep < cep < bee < TS AT HAToleh

L%}

hep = cep < bee < TS T ATl
4. hep=cep > bee > BIA AT ATl

Options:

1908892673. 1
1908892674. 2
1908892675. 3
1908892676. 4

Question Number : 95 Question Id : 190889686 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
Types of solids Examples
A. Molecular Solids [I. MgO
B. Ionic Solids I1. SiC

C. Metallic Solids |III. CCl4
D. Covalent Solids |IV. Ag

Choose the correct answer from the options given below:

1. A-IIIL B-I. C-IV. D-II
2. A-II B-II C-IV. D-I
A-IV. B-II, C-II1. D-1
A-I. B-II. C-III. D-IV

5w



Options :

1908892677. 1
1908892678. 2
1908892679. 3
1908892680. 4

Question Number : 95 Question Id : 190889686 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& -IFEET - § gAfeT FifeT

T -1 Tt -11
3l & IFR 3EIELOT
A. HT0a+ 3T L. MgO
B. ¥Tafa+ 3@ 1. SiC
C. ticas 3rF 1L CCly
D. T8+ 3" .I‘i-'. Ag

Arr for 7v Rent # ¥ @ 3o g

1. A-IIL B-I. C-IV. D-II
2. A-II B-II. C-IV., D-I
A-IV. B-IL. C-III. D-I
A-L B-II. C-IIL. D-IV

& ow

Options :

1908892677. 1
1908892678. 2
1908892679. 3
1908892680. 4

Question Number : 96 Question Id : 190889687 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A : The preservation of meat by salting and fruits by adding sugar 1s done to protect
them from bacterial action.

Reason R : Due to the reverse osmosis.

In light of the above statements, choose the correct answer from the options given below
Both A and R are true and R 1s the correct explanation of A

Both A and R are true but R 1s NOT the correct explanation of A

A 15 true but R 1s false
A 1s false but R 1s true

e o b e

Options :

1908892681. 1
1908892682. 2
1908892683. 3
1908892684. 4

Question Number : 96 Question Id : 190889687 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 Fud R v € o 1 AfEET (A) 3 gE FOFNOT (R) FT A

HIAFUF (A): ATE F A0 AT FAT F a7 ST qrIea F7ar Jmar & 3t
Ieg 49T & THE Y 9977 o G

FNOT(R) : TaelH I F FH07

FFd FUA F HAE A fAwea Eedt & § ®E 3} T

e

L (A)IR R) I T E AR (R). (A)FT T e g

(A) #T (R) g TET € T (R). (A) FT TET e A L
. (A) T E W (R) WE A B

. (A)WEr TE § T (R)FET L

Options :

4= L] [ S



1908892681. 1
1908892682. 2
1908892683. 3

1908892684. 4

Question Number : 97 Question Id : 190889688 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

- ; 23 4
The number of moles of carbon and oxygen required to produce 6.023 x 107 molecules of CO;.

0.01 mol and 0.01 mol
0.5 mol and 0.1 mol

3. 10.0 mol and 5.0 mol
4. 1.0 mol and 1.0 mol

| I =

Options:

1908892685. 1
1908892686. 2
1908892687. 3
1908892688. 4

Question Number : 97 Question Id : 190889688 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

COrF 6.023 x 10% U & 3o & F T Fraa AN FFdiaa & A i qE&w
¢l

1. 0.01mol HT 0.01 mol
2. 0.5mol 3T 0.1 mol
3. 10.0mol HR 5.0 mol
4. 1.0mol HT 1.0 mol

Options :

1908892685. 1



1908892686. 2
1908892687. 3

1908892688. 4

Question Number : 98 Question Id : 190889689 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Considering the pK, of acetic acid and pKy, of ammonium hydroxide are 4.5 and 4.4,
respectively. The pH of ammonium acetate 1s:

7.005
8.9
4.45
75

b2 —

il ok

Options :

1908892689. 1
1908892690. 2
1908892691. 3

1908892692. 4

Question Number : 98 Question Id : 190889689 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT R vfRfeE wEe pK, 3R HARTE TS EEE oK, FA 45 R4 A
¥AATE e FTpH |

7.005
8.9

3. 445
4. 1.5

oad

Options :
1908892689. 1
1908892690. 2

1908892691. 3



1908892692. 4

Question Number : 99 Question Id : 190889690 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Dissociation is the process of separation of 10ns in water already existing as such in
the solid state of the solute like NaCl.

Statement IT: Tonization corresponds to a process m which a neutral molecule splits nto charged
10ns 1n the solution.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II 15 false
4. Statement I 15 false but Statement II is true

Options :

1908892693. 1
1908892694. 2
1908892695. 3

1908892696. 4

Question Number : 99 Question Id : 190889690 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892693. 1
1908892694. 2
1908892695. 3

1908892696. 4

Question Number : 100 Question Id : 190889691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: Cu is more reactive than hvdrogen.
Statement II: E°, 2y is negative.
Inlight of the above statements, choose the correct answer from the options given below
Both Statement I and Statement II are true
Both Statement I and Statement II are false

Statement I is true but Statement I1 is false
Statement [ is false but Statement I1 is true

A

Options :
1908892697. 1

1908892698. 2



1908892699. 3

1908892700. 4

Question Number : 100 Question Id : 190889691 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892697. 1
1908892698. 2
1908892699. 3

1908892700. 4

Part C Biology

Section Id : 19088926
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Sub-Section Number : 1
Sub-Section Id : 19088952
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 190889692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one 15 odd to the living organisms?

Metabolism
Atmosphere
Selt-Organize
Ability to self-replicate

| ]
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Options :

1908892701. 1
1908892702. 2
1908892703. 3
1908892704. 4

Question Number : 101 Question Id : 190889692 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892701. 1



1908892702. 2
1908892703. 3

1908892704. 4

Question Number : 102 Question Id : 190889693 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Respiratory quotient is 1 when

Carbohydrates are used as respiratory substrates
Fats are used as respiratory substrates

Proteins are used as respiratory substrates
Amino acids are used as respiratory substrates

LI S

o

Options :

1908892705. 1
1908892706. 2
1908892707.3

1908892708. 4

Question Number : 102 Question Id : 190889693 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908892705. 1

1908892706. 2



1908892707. 3
1908892708. 4

Question Number : 103 Question Id : 190889694 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The polymerase chain reaction 1s the technique that

Is used for i vivo replication of DNA

Is used for m vitro synthesis of mRNA

Is used for i vivo synthesis of mRNA

Is used for m vitro replication of specific DNA sequence using thermo stable DNA
polymerase

I A

Options :

19088927009. 1
1908892710. 2
1908892711.3
1908892712. 4

Question Number : 103 Question Id : 190889694 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
1908892709. 1

1908892710. 2



1908892711. 3
1908892712. 4

Question Number : 104 Question Id : 190889695 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Greenhouse gases

A. Water vapor occurs in the atmosphere only because of evaporation from the oceans

B. Methane 1s produced naturally when vegetation is burnt, digested (or) allowed to rot without
oxygen being present,

C. Nitrous oxide 1s produced naturally by the oceans

D. Chloro fluoro carbons can absorb more infrared radiation than any other greenhouse gas.

E. Carbon dioxide is thirty times stronger than methane or as an absorber of nfrared radiation.

Choose the correct answer from the options given below:

1. A B.C&D only

2. AB&Conly

3. BL&Donly

4. CD &E only
Options :
1908892713. 1
1908892714. 2
1908892715. 3

1908892716. 4

Question Number : 104 Question Id : 190889695 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892713. 1
1908892714. 2
1908892715. 3

1908892716. 4

Question Number : 105 Question Id : 190889696 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement is incorrect?

Vessel 15 a long cylindrical tube like structure

Vessels contain protoplasm

Gymnosperm lack vessels in their xylem

Presence of vessels is a characteristic feature of angiosperms

| S

o

Options :



1908892717. 1
1908892718. 2
1908892719. 3

1908892720. 4

Question Number : 105 Question Id : 190889696 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892717. 1
1908892718. 2
1908892719. 3

1908892720. 4

Question Number : 106 Question Id : 190889697 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Copper T 1s an effective contraceptive device i human females

Reason R: Copper T prevents passage of sperms from vagina upwards into fallopian tubes

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R 15 the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R 1s not correct
4. A 1snot correct but R 1s correct
Options :
1908892721. 1
1908892722. 2
1908892723. 3

1908892724. 4

Question Number : 106 Question Id : 190889697 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892721. 1



1908892722. 2
1908892723. 3

1908892724. 4

Question Number : 107 Question Id : 190889698 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the following conditions correctly describes the method of sex determination?

XO type of sex chromosomes determines male sex in grasshopper.
XO condition in humans as found in Turner’s syndrome. determines female sex.
Homozygous sex chromosomes (XX) produce male in Drosophila.
Homozygous sex chromosomes (ZZ) determine female sex in birds

| e

e

Options :

1908892725. 1
1908892726. 2
1908892727.3
1908892728. 4

Question Number : 107 Question Id : 190889698 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908892725. 1
1908892726. 2

1908892727. 3



1908892728. 4

Question Number : 108 Question Id : 190889699 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume that in rabbits the allele for colored fur (C) 1s dominant to the allele for albinism (c). It
the population of 480 rabbits with 45 albinos 1s in Hardy-Weinberg Equilibrium. then what 1s the
percentage of heterozygotes?

19
70
30
.4l

Jee el b

Options:

1908892729. 1
1908892730. 2
1908892731.3

1908892732. 4

Question Number : 108 Question Id : 190889699 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892729. 1
1908892730. 2
1908892731. 3



1908892732. 4

Question Number : 109 Question Id : 190889700 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following 15 a correct combination of a disease. its causative organism and
mode of infection?

Typhoid fever — Salmonella typhi - sexual transmission

Pneumonia — Haemophilus influenzae — droplet infection

Malaria — Plasmodium falciparium — contaminated food and water
Filariasis — Wuchereria baneroftti — bite of female Anopheles mosquito

b bt
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Options :

1908892733. 1
1908892734. 2
1908892735. 3

1908892736. 4

Question Number : 109 Question Id : 190889700 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892733. 1
1908892734. 2
1908892735. 3

1908892736. 4



Question Number : 110 Question Id : 190889701 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the following plastids store proteins?

Amyloplasts
Elaioplasts
Aleuroplasts
Protoplasts

e L b e

Options :

1908892737. 1
1908892738. 2
1908892739. 3

1908892740. 4

Question Number : 110 Question Id : 190889701 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892737. 1
1908892738. 2
1908892739. 3

1908892740. 4

Question Number : 111 Question Id : 190889702 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one these are the unique characteristics of an insect?

Four pairs of legs. book lungs. antennae
Cephalothorax. Malphigian tubules. Compound eyes
Three pairs of legs. antennae. tracheal system

Galls, Non-chitinous exoskeleton. Ommatidia
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Options :

1908892741. 1
1908892742. 2
1908892743. 3
1908892744. 4

Question Number : 111 Question Id : 190889702 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892741. 1
1908892742. 2
1908892743. 3

1908892744. 4

Question Number : 112 Question Id : 190889703 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In India. on the basis of numbers arrange the followings in ascending order.

A. Biodiversity hotspots
B. Wildlife Sanctuaries
C. Biosphere Reserves
D. Botanical Gardens
E. Zoological Parks

Choose the correct answer from the options given below:

1. A>B>=D=E>C
2. E=B=C=A>D

Ll

D:’{:“'}fjl. :'.?B'::-E
4. B=D>E=C=A
Options :

1908892745. 1
1908892746. 2
1908892747. 3
1908892748. 4

Question Number : 112 Question Id : 190889703 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. A=B>D=E=C

2 E=B=C=A=D

3. D>C>A>B>E

4. B=D=E=C=A
Options :

1908892745. 1
1908892746. 2
1908892747. 3

1908892748. 4

Question Number : 113 Question Id : 190889704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following option differentiates Sorghum from rice

Photorespiration
Kranz anatomy

Primary carbon dioxide acceptor 1s phosphoenol pyruvate
Sorghum 1s a C4 Plant

b

el

Options :
1908892749. 1

1908892750. 2



1908892751. 3

1908892752. 4

Question Number : 113 Question Id : 190889704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892749. 1
1908892750. 2
1908892751. 3

1908892752. 4

Question Number : 114 Question Id : 190889705 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is not related to the regulation of cardiac activity?

Neural signals through the sympathetic nerves can increase the rate of heart beat,
Parasympathetic neural signals decrease the rate of heart beat.

Neural signals through the sympathetic nerves can decrease the rate of heart beat.
Adrenal medullary hormones increase the cardiac output,

fm L B

Options :

1908892753. 1
1908892754. 2
1908892755. 3

1908892756. 4



Question Number : 114 Question Id : 190889705 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892753. 1
1908892754. 2
1908892755. 3
1908892756. 4

Question Number : 115 Question Id : 190889706 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Sex linked traits can be seen only 1n human males since they are outcome of genes
located on the X chromosomes

Statement II: Cystic fibrosts, which is characterized by an excessive secretion of mucus that can
merease the susceptibility to infection, 15 a life threatening genetic disorder caused by a dominant
allele

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are ncorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 1s correct

e g b =

Options:



1908892757. 1
1908892758. 2
1908892759. 3

1908892760. 4

Question Number : 115 Question Id : 190889706 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892757. 1
1908892758. 2
1908892759. 3

1908892760. 4

Question Number : 116 Question Id : 190889707 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the Hitchhiker’s Guide to the Galaxy. it was shown that the planet Vogsphere was nhabited
by Vogons -an alien race of sentient bureaucrats. At the height of Vogon's technology and
evolution. a large collection of asteroids collided with Vogsphere and due to the impact. the
planet split into two as was the Vogon population. Much of the Vogon population succumbed to
the collision but many pulled through and survived on both pieces of the planet. As the time
progressed following catastrophe. the genetic structure of the Vogon population began to differ
from each other since they were no longer reproducing with each other.

This process is known as

1. Genetic conversion

2. Sympatric speciation
Evolutionary segregation
. Allopatric speciation

4=

Options :

1908892761. 1
1908892762. 2
1908892763. 3

1908892764. 4

Question Number : 116 Question Id : 190889707 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892761. 1



1908892762. 2
1908892763. 3

1908892764. 4

Question Number : 117 Question Id : 190889708 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Correct sequence of spread of HIV 1nside the body 1s
A. HIV enters into T-helper cells, replicates and produce progeny viruses.
B. Virus enters macrophages
C. Viral DNA directs the infected macrophages to produce particles.
D. Progeny viruses released in the blood, attack other helper T-lymphocytes
E. Viral DNA gets incorporated into host cell’s DNA

Choose the correct answer from the options given below:

1. B>E>C>A>D
2. A>C>E>B>D
3. B>C>E>A>D
4. A>D>C>E>B

Options:

1908892765. 1
1908892766. 2
1908892767.3

1908892768. 4

Question Number : 117 Question Id : 190889708 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892765. 1
1908892766. 2
1908892767. 3

1908892768. 4

Question Number : 118 Question Id : 190889709 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the organelle does not contamn genetic material?

Chloroplast
Nucleus
Vacuole
Mitochondria

R R

Options :
1908892769. 1

1908892770. 2



1908892771. 3

1908892772. 4

Question Number : 118 Question Id : 190889709 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892769. 1
1908892770. 2
1908892771.3

1908892772. 4

Question Number : 119 Question Id : 190889710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Chlorophyceae store food in the form of oil droplets and have a rigid cell wall
made up of an mner layer of cellulose and outer layer of pectose.

Statement II: Phacophyceae store food in the form of mannitol and cells have a cellular wall
usually covered on the outside by algin.

In the light of the above statements, choose the most appropriate answer from the options given
below.

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 1s correct but Statement IT 1 incorrect
Statement I 1s incorrect but Statement II 1s correct
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Options :

1908892773. 1
1908892774. 2
1908892775. 3

1908892776. 4

Question Number : 119 Question Id : 190889710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892773. 1
1908892774. 2
1908892775. 3

1908892776. 4

Question Number : 120 Question Id : 190889711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following processes during decomposition 1s correctly described?

1. Catabolism - last step in the decomposition under fully anaerobic condition
2. Humification — leads to the accumulation of dark colored substance, humus, which
undergoes microbial action at a very fast rate
3. Fragmentation — carried out by organisms such as earthworm
4. Leaching — water soluble inorganic nutrients rise to the top layers of the soil
Options :
1908892777.1
1908892778. 2
1908892779. 3

1908892780. 4

Question Number : 120 Question Id : 190889711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892777. 1
1908892778. 2
1908892779. 3

1908892780. 4

Question Number : 121 Question Id : 190889712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

A. Perisperm 1. Pea

B. Exalbuminous 1. Black Pepper
C. Parthenocarpic fruit|III. Apple

D. False fruit IV. Banana

Choose the correct answer from the options given below:

A-II.B-LC-IV.D-III
A-LB-IMI.C-IV.D-1I
A-II.LB-LC-III.D -1V
A-IV.B-1LC-II.D-III

Ll b

o

Options :

1908892781. 1
1908892782. 2
1908892783. 3

1908892784. 4

Question Number : 121 Question Id : 190889712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A-II.B-LC-IV.D-III
A-LB-TIILC-IV.D-1I
A-ILLB-LC-IID-IV
A-IV.B-LC-II.D-III

bt

il

Options :

1908892781. 1
1908892782. 2
1908892783. 3

1908892784. 4

Question Number : 122 Question Id : 190889713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following layers of uterus undergo cyclic changes during menstrual cycle and show
contractions at the time parturition?

Endometrium & Myometrium
Endometrium & Perimetrium
Myometrium & Perimetrium
Myometrium & Epimetrium

o R

s

Options :
1908892785. 1
1908892786. 2

1908892787. 3



1908892788. 4

Question Number : 122 Question Id : 190889713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908892785. 1
1908892786. 2
1908892787.3

1908892788. 4

Question Number : 123 Question Id : 190889714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Haemophilia 1s an mhented bleeding disorder in which the blood does not clot normally due to
lack of blood clotting proteins. This rare disease 15 commonly observed in human males than in
females because 1t 1s caused by

Y-linked recessive allele
X-linked recessive allele
Autosomal recessive allele
X-linked dominant allele

b —

o

Options :
1908892789. 1
1908892790. 2

1908892791. 3



1908892792. 4

Question Number : 123 Question Id : 190889714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fERITtRforar & wafis waeTe 191 § foRd 9o & 99 FAE 3
UIEA & AT F TFT T UFH A8 AAM £ TZ T AT AT F AN
T # O H WAGS: I7T S §| FF IE -

l. Y-Harad @egamd vl ¥ g §
X - §ATeAd fAsqamet velter o giar 2
3. s e v @ g ¢
4. X-FoIead T Telter & e §

[ ]

Options :

1908892789. 1
1908892790. 2
1908892791.3
1908892792. 4

Question Number : 124 Question Id : 190889715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If we consider a population 1 Hardy-Weinberg Equilibrium then which of the following
statements are true?

A. Population is constantly evolving

B. Genetic dnft is negligible

C. Allele frequencies after one round of random mating change from the original frequencies
D. Hardy-Weinberg principle is fundamental null model for population genetics

E. Allele frequencies change from generation to generation

Choose the correct answer from the option given below:

B & C only
C &D only
A & B only
D & B only

d

e Laa

Options :

1908892793. 1
1908892794. 2
1908892795. 3

1908892796. 4

Question Number : 124 Question Id : 190889715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908892793. 1
1908892794. 2
1908892795. 3
1908892796. 4

Question Number : 125 Question Id : 190889716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Bt toxin gene cloned from bacterum Bacillus thuringiensis when expressed i plants provide

Nematode resistance
Insect resistance
Drought resistance
Cold resistance

[

e

Options :

1908892797. 1



1908892798. 2
1908892799. 3

1908892800. 4

Question Number : 125 Question Id : 190889716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908892797. 1
1908892798. 2
1908892799. 3

1908892800. 4

Question Number : 126 Question Id : 190889717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A smgle stranded DNA molecule contain 80 nucleotides with equal number of A.C.G, T and this
molecule can replicate and form double stranded DNA molecule. Which of the following double
stranded DNA molecule would denature at a lower temperature than 80 base pair double
stranded DNA?

80 base pair molecule with 25% of Adenine
60 base pawr molecule with 40% of Guanine
i
i

b —

40 base pair molecule with 10% of Thymime

1
20 base pair molecule with 20% of Cytosine

il

Options :



1908892801. 1
1908892802. 2
1908892803. 3

1908892804. 4

Question Number : 126 Question Id : 190889717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UF TAd DNA @UE # 80 ~gfhealelze ¢ 94T A.C.G. THAT H&T ¥ § 3 ¢
TUs il ¥ ZeFad DNA F &1 T&aT ¢| &7 # ¥ Fi9 71 gfamiy
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1. TF 80bp TUE TSHH 25% UfeAH £l
2. T 60bp @5 A 40% A B
3. T% 40 bp TUE THEH 10% TTAE £
4. T 20 bp @UE [SEH 20% FTIeEA &

Options:

1908892801. 1
1908892802. 2
1908892803. 3

1908892804. 4

Question Number : 127 Question Id : 190889718 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following are ncorrect about sexual reproduction?
A. Bamboo species flower only once in their life time
B. In some species of fungi, both the gametes are motile

C. Transfer of pollen grains from anther fo the stigma of another flower of the same plant 15
called Xenogamy

D. Primary oocyte surrounded by many layers and granulosa cells 1s called primary follicle.

E. Release of oxytocin hormone during parturition is an example of positive feedback of
hormone secretion

Choose the correct answer from the option given below:
1. B.D&E only

C & D only

3. B.C&Donly

D & E only

[ ]

-

Options :

1908892805. 1
1908892806. 2
1908892807. 3
1908892808. 4

Question Number : 127 Question Id : 190889718 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT T s FA AT HET 0
A T8 Tl F 39 STTHA # F99 06 a0 T 370 £
B.B%¢ H FT TG & JoHF ToTA & £l

C. U & RIS § 38 Te¥ & 307 T $t 3fiem | T W
Fgo £l

D. ITTHF TSV F A Tl T T FOHHT FIRF Fr T TIHF TF
FEoe £

E.Y9e ATAF a1 & TAY AFEEEa gRE F1 5906, fHg &1 FHE I e
Pizas Bl F1 3eE g

A fT v faFet # ¥ W 3o I
l. $aB. DA E
2 F9A CHTD

. %3d B.CHR D

4 FITDANE

L%

Options :

1908892805. 1
1908892806. 2
1908892807. 3

1908892808. 4

Question Number : 128 Question Id : 190889719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is not the feature of catalytic converter?

They are used in automobiles for reduction of poisonous gases

Vehicles equipped with catalytic converter should use leaded petrol

Rhodium 15 used as one of the catalyst in catalytic converter

When the exhaust passes through these converters, unburnt hydrocarbons are changed
mto carbon dioxide and water

N

Options :



1908892809. 1
1908892810. 2
1908892811. 3

1908892812. 4

Question Number : 128 Question Id : 190889719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908892809. 1
1908892810. 2
1908892811. 3

1908892812. 4

Question Number : 129 Question Id : 190889720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The process of electron transport system in mitochondrial matrix involve
A NADH+H ——— NAD (Complex |, NADH dehydrogenase)

B.%0,+2H — 2 5 H,0 (Complex IV, Cytochrome c oxidase)
C. Complex Il (Cytochrome b)

D. Succinate —— Fumarate (Complex I, Succinate dehydrogenase)
E.ADP+P ——— ATP

Choose the correct answer from the options given below:

1. A=C=D=B=E

2. A>B>D>C>E

3. A>=D=C>B>E

4. A=B=C=E=D
Options :

1908892813. 1
1908892814. 2
1908892815. 3

1908892816. 4

Question Number : 129 Question Id : 190889720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892813. 1
1908892814. 2
1908892815. 3

1908892816. 4

Question Number : 130 Question Id : 190889721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is not related to symbiotic biological nitrogen fixation?

Nitrogenase requires anaerobic condition and leghaemoglobin
Sweet pea and lentils

Rhodospirillum

Nodule formation

R

Options :
1908892817. 1

1908892818. 2



1908892819. 3
1908892820. 4

Question Number : 130 Question Id : 190889721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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1908892817. 1
1908892818. 2
1908892819. 3

1908892820. 4

Question Number : 131 Question Id : 190889722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Natural selection is the outcome of difference in survival and reproduction among
mndividuals that show variation i one or more traits.

Reason R: Adaptive forms of a given trait tend to become more common: less adaptive ones
become less common or disappear.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A s correct but R 1s not correct

A 15 not correct but R 1s correct

fea Lad bl

Options:

1908892821. 1
1908892822. 2
1908892823. 3

1908892824. 4

Question Number : 131 Question Id : 190889722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892821. 1
1908892822. 2
1908892823. 3

1908892824. 4

Question Number : 132 Question Id : 190889723 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the evolution of man, several changes occur in the ancestral characters. Which one of the
tollowing changes 1s irrelevant in this context?

Change of diet from frmits, hard nuts and roots to softer foods
Perfection in the structure and working of hand for tool making
Loss of tail from body

Increase in the ability to communicate with others

e L B2

Options:
1908892825. 1
1908892826. 2

1908892827. 3



1908892828. 4

Question Number : 132 Question Id : 190889723 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908892825. 1
1908892826. 2
1908892827.3
1908892828. 4

Question Number : 133 Question Id : 190889724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In mammals. which of the following mechanism helps to produce concentrated urine?

1. Exchange of NaCl between the ascending limb of Henle's loop and the descending limb
of vasa recta

2. NaCl returns to the mterstitium by the ascending portion vasa recta

3. Small amount of urea enter the ascending limb of Henle's loop and transport back to the

interstitinm
4. All of the above

Options :
1908892829. 1

1908892830. 2

1908892831. 3



1908892832. 4

Question Number : 133 Question Id : 190889724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892829. 1
1908892830. 2
1908892831. 3

1908892832. 4

Question Number : 134 Question Id : 190889725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

E. coli was grown in a medium containing heavy isotope of nitrogen. This was followed by
transfer of cells into medium contaming normal nitrogen. Considering E. coli divides m 20
minutes. what would be the proportion of light. heavy and hybrid DNA density after 40 minutes?

Hybrid DNA only

Equal proportion of hybrid DNA and light DNA
Light DNA only

Heavy DNA only

[ A s R

Options:
1908892833. 1
1908892834. 2

1908892835. 3



1908892836. 4

Question Number : 134 Question Id : 190889725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908892833. 1
1908892834. 2
1908892835. 3

1908892836. 4

Question Number : 135 Question Id : 190889726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man with certain disease marries a normal woman. They have eight children (5 daughters and
3 sons). All the daughters suffer from their father’s disease but none of the sons are affected.
Which of the following mode of mheritance do you suggest for this disease?

Autosomal dominant
Sex-linked recessive
3. Sex-limited recessive
4. Sex-linked dommant

b

Options :

1908892837. 1



1908892838. 2
1908892839. 3

1908892840. 4

Question Number : 135 Question Id : 190889726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908892837. 1
1908892838. 2
1908892839. 3

1908892840. 4

Question Number : 136 Question Id : 190889727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I wath List IT

ListI {List IT

A. Monoascus purpureus  |L. Streptokinase

B. Trichoderma polysporum |I1. Black Pepper

C. Aspergillus niger II1. Cylecosporin A
D. Streptococcus IV. Citric acid |

Choose the correct answer from the options given below:

1. A-IILLB-IL.C-IV.D-1

2. A-IILLB-NI.C-IV.D-1I

3. A-ILB-NMI.C-LD-1IV

4. A-IV.B-II.C-II1.D-1I
Options :

1908892841. 1
1908892842. 2
1908892843. 3

1908892844. 4

Question Number : 136 Question Id : 190889727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. A-ILB-ILC-IV,D-1I

A-II.B-IILC-IV.D-I

J. A-IILB-ILC-I.D-1IV
4 A-IV.B-II.C-IIL.D-I
Options :

1908892841. 1
1908892842. 2
1908892843. 3
1908892844. 4

Question Number : 137 Question Id : 190889728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many hydrogen bonds are formed between two strands of a 272 angstroms long double
stranded DNA with 30% guanine?

80

208
160
240

d

> w

Options :
1908892845. 1
1908892846. 2

1908892847. 3



1908892848. 4

Question Number : 137 Question Id : 190889728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

272 A° oFd Efalea® DNA s 30% qanfaet & forae gragiarer v gt 2

80

208
160
240

bt

e Tt

Options :

1908892845. 1
1908892846. 2
1908892847. 3

1908892848. 4

Question Number : 138 Question Id : 190889729 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a part of a flower?

Funicle
Inflorescence

[ S

Eaa

Tapetum
Locule

o

Options:

1908892849. 1
1908892850. 2
1908892851. 3

1908892852. 4

Question Number : 138 Question Id : 190889729 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892849. 1
1908892850. 2
1908892851. 3

1908892852. 4

Question Number : 139 Question Id : 190889730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the correct sequence of plants in a hydrosere?
A. Lantana

B. Hydrilla

C. Volvox

D. Oak

E. Pistia
Choose the correct answer from the options given below:

1. B>A>D>C>E

2. C=B=A>E=D

3. B>C>A>D>E

4. C>B>E=A>D
Options :

1908892853. 1



1908892854. 2
1908892855. 3

1908892856. 4

Question Number : 139 Question Id : 190889730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. B=A=D>=C=>=E

2. C=B>=A>E=D

3. B>C>A>D>E

4. C=B=E=A>D
Options :

1908892853. 1
1908892854. 2
1908892855. 3

1908892856. 4

Question Number : 140 Question Id : 190889731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In short day plants. flowering is induced when

Plants are exposed to light for a period exceeding eritical photoperiod
Plants are exposed to light for a period less than the critical photoperiod
Plants are exposed to a period of low temperature

There 1s no effect of light duration on flowering

Fed ek

ot

Options :

1908892857. 1
1908892858. 2
1908892859. 3
1908892860. 4

Question Number : 140 Question Id : 190889731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892857. 1
1908892858. 2
1908892859. 3
1908892860. 4

Question Number : 141 Question Id : 190889732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In a healthy body, heart museles are supplied with oxygenated blood through coronary arteries.
But under abnormal conditions the lumen of arteries becomes narrow. Which of the following 1s
appropriate to the above mentioned conditions?

1. Acute chest pamn appear when enough O; 15 not reaching the heart musele and thus
leading to Angina

Congestion of the lungs leads to heart failure

Deposition of caleium, fat, cholesterol and fibrous tissues leads to Astherosclerosis
Deposition of caleium. cholesterol leads to heart failure

[ -]

b

Options :

1908892861. 1
1908892862. 2
1908892863. 3

1908892864. 4

Question Number : 141 Question Id : 190889732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. $ToUTH. FOTS T FAE §5T BT @ T INF &
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Options :

1908892861. 1
1908892862. 2
1908892863. 3

1908892864. 4

Question Number : 142 Question Id : 190889733 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

List I List I
A. DNA polymerase-TII [T, Relieves tasque
B. DNA gyrase II. Synthesizes short stretches of DNA

C.DNA polymerase-I ~ [IIL Synthesizes DNA

IV. Removes primer and fills small gaps during DNA repair

D. DNA primase .
reactions

Choose the correet answer from the options given below:

. A-IV.B-LC-IILD-II
2. A-ILB-TLC-IV.D-I
3. A-IILB-ILC-LD-IV
4. A-NLB-LC-IV.D-II

Options :

1908892865. 1
1908892866. 2
1908892867. 3
1908892868. 4

Question Number : 142 Question Id : 190889733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T -IHTHET -1 § gRToT HITAT

T - T -
A DNA 9IfeAs -1 |LUS §F FXT &
B. DNA TI{H II. DNA &F B¢ - §H FT T

C. DNA TTfeolALS - I |III. DNA e80T

IV. SISAT Z20aT § 4T DNA 3¢ §ur #

D. DNA 9IERT aﬂﬁqﬁﬁ%m?

A< for av FFent # ¥ wEr 3eaw gfav

A-IV.B-LC-II.D-II
A-II.B-MLC-IV,D-I
A-IIILB-ILC-I.D-IV
A-TMI.B-1.C-IV.D-II

b

o

Options :

1908892865. 1
1908892866. 2
1908892867. 3

1908892868. 4

Question Number : 143 Question Id : 190889734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the following periods in chronological order.
A. Permian
B. Devonian

C. Cambrian

D. Ordovician
Choose the correct answer from the options given below:

1. C>E>B>D>A
2. B>E>C>A>D
3. A>C>E>D>B
4. D>B>E>A>C

Options :

1908892869. 1
1908892870. 2
1908892871. 3

1908892872. 4

Question Number : 143 Question Id : 190889734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



7 FT FAGIR TIEAT FL

A, TETS
B. Teimas
C. FFaaa
D. FEfAhT
E.3Teffafaa=

e for T oeedt F ¥ WEr 3o g4

C>E>B>=D>A
B>E>C>A>D
A=C=>E=D=>B
D=B=E=A>=C

b et

. Il

Options :

1908892869. 1
1908892870. 2
1908892871.3

1908892872. 4

Question Number : 144 Question Id : 190889735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s used for commercial production of ethanol?

Saccharomyces cerevisiae
Aspergillus niger
Penicillium notatum
Acetobacter aceti

LI S ]

e

Options :

1908892873. 1
1908892874. 2
1908892875. 3

1908892876. 4



Question Number : 144 Question Id : 190889735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UAAT & SHSHIAS 3c9ea g e & [hasr garer fhar amar g 2

1. ARAEay BEts
2. UEHISed A=

G I IGR G )
. THREF wE

L]

e

Options :

1908892873. 1
1908892874. 2
1908892875. 3

1908892876. 4

Question Number : 145 Question Id : 190889736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
During a certain period, density of a population m a particular habitat increases due to changes in
A Mortality
B. Natality
C. Enugration
D. Imnugration
E. Migration
Choose the correct answer from the options given below:

. A&Conly
2. A&Eonly
3. B&Donly
4. C&Eonly



Options :

1908892877. 1
1908892878. 2
1908892879. 3
1908892880. 4

Question Number : 145 Question Id : 190889736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Arer fow aw fewedt & & W I T

1. 9 AAT C
FTT AATE
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Options :

1908892877. 1
1908892878. 2
1908892879. 3
1908892880. 4

Question Number : 146 Question Id : 190889737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Somaclonal variations may be present in plants produced from callus.

Reason R: Somaclonal variations are caused due to recombination during meiosis.
In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A 15 not correct but R 1s correct

ol

pe R

Options :

1908892881. 1
1908892882. 2
1908892883. 3

1908892884. 4

Question Number : 146 Question Id : 190889737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908892881. 1
1908892882. 2
1908892883. 3

1908892884. 4

Question Number : 147 Question Id : 190889738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following DNA strand has the lowest melting point?

TGACAAACTTGT
AGGTGGACACCA
GCGGATGTGTCC
CATGCGTAGATC

L R

o

Options :

1908892885. 1
1908892886. 2
1908892887. 3

1908892888. 4

Question Number : 147 Question Id : 190889738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fa7 # ¥ 9 DNAFH F e a7 a8 FH gHm ?

TGACAAACTTGT
AGGTGGACACCA
GCGGATGTGTCC
CATGCGTAGATC

b

= e

Options :
1908892885. 1

1908892886. 2



1908892887. 3
1908892888. 4

Question Number : 148 Question Id : 190889739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On an educational trip, four plant samples (S1-54) were collected by a group of students.

S$1- Most common mode of asexual reproduction 1s by formation of zoospores

S2- Reproductive structures are produced inside a specialized structure called as flower

$3- Ovules are not enclosed m ovary

S4- Water 1s essential for sexual reproduction and are considered amphibians of plant kingdom
Choose the correct classification

S1- Alga: S2-Angiosperm: S3- Gymnosperm: S4- Bryophyte
S1- Alga: S2-Gymnosperm; S3- Pteridophyte; $4- Bryophyte
S1- Alga: S2- Bryophyte: S3- Angiosperm; S4- Gymnosperm
S1- Alga: S2- Angiosperm: S3- Bryophyte; S4- Gymnosperm

N i

Options :

1908892889. 1
1908892890. 2
1908892891. 3

1908892892. 4

Question Number : 148 Question Id : 190889739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

-

faa

1908892889. 1
1908892890. 2
1908892891. 3

1908892892. 4

Question Number : 149 Question Id : 190889740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In countryside, you often see the “Cattle egret” forage close to where the cattle graze. The egret
catches the msects flushing out from the vegetation due to the moving cattle. This interaction
between the egret and cattle 1s considered as

Mutualism
Amensalism
. Competition

[ R ——

3
4. Commensalism

Options :

1908892893. 1
1908892894. 2
1908892895. 3

1908892896. 4



Question Number : 149 Question Id : 190889740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ET H FFR A T AU Ao A0 T T F FAT Faed §
T F T § e T e F HT F9 AER T4 ¢ ST T 9
HITH FF=T 1 e A1 £

I. BRI
2. T

3. T

4. EAITAE
Options:
1908892893. 1
1908892894. 2
1908892895. 3

1908892896. 4

Question Number : 150 Question Id : 190889741 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Due to environment. shapes of buttercup leaves differ in air to those produced i water, This s
an example of

Totipotency
Plasticity
Dafferentiation
Dedifferentiation

o

e

Options :

1908892897. 1
1908892898. 2
1908892899. 3

1908892900. 4



Question Number : 150 Question Id : 190889741 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

F TU TG H TEFT FF A H Ieddl TR0 F FR0 0F TR § B g g
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|, QUIEEAAT
2. CATTERTEeT

3. Rfe=mor w

4. Tafafa=dmTor 3
Options :
1908892897. 1
1908892898. 2
1908892899. 3

1908892900. 4



